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OA&E &l S XYl 169,428
a=a=uwl I RPN 100,000& =21 CH 2,100
-0y XA ZEY| 23,000& x150CH 3,450
-sSsa AU A 110,000& =6 CH 660
-2HEBE 350, 000& *2CH 700
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— 1190 QX E X B MH 24
100, 000& =404 2~ 4,000
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-2 27 Xbl 22,220
- HANHALAEY 59,450
LYY RI e 319,533 307,918 11,615
201 et A | 319,538 307,918 11,615
02 3524t 319,533 307,918 11,615
O332=2 % HA 63,163
- XS XA 470,000 x3CH 18] 1,410
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SN BESRAUA
B HEEAAYIINTE
SR HISAYADY (ABSHEN) (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
—= R A A} 2,900
ot , 9 300,000& =84 A 2,400
EE Ko2 500
—dHAME N 29 1,000
ozg=+4¢ 800
—EXMHA HARIRSY
100, 0002 2 +204 & 2 400
~AHAME FOUE AANSIRST
100,000& *x2H 200
~119A LSS ALY
100,000& *x2H 200
03 S AIS H H| 17,200 17,200 0
OBIHIH 0] AYrort™ Al 4,000
oMoagtsUlsl 3,000
OoMgad st 249 2,600
Ooelol 11980t = Hl 4,000
OdHAM= ZAUS 2,000
O XA A 1,600
301 et A= 8,000 7,000 1,000
09 HALAHIEA = 8,000 7,000 1,000
OAagolLt AL EIHAH 24! 8,000& x150H 1,200
OBtHIH 0] AgtordM Al FILA S 4
8,000& x250H 2,000
O1M928=sU3 &EILAF 24 8,000& *200H 1,600
OOW&eol 1198t0te sH EIOtAF 24
8,000& 4004 3,200
HE 2 FH| 11,657,044 11,124,440 532,604
QlESAY|(AUSESH) 11,323,188 10,654,703 668,485
ol 2 A Y| 11,323,188 10,654,703 668,485
101 @121l 11,003,628 10,362,323 641,305
01 84 11,003,628 10,362,323 641,305
Od=EH 294,780
-Ag3 84,864,000 x1H 84,864
-Aa8d 69,972,000%«3% 209,916
OEZH 6,160,974
-A83F 4,097,200& x15H ~12& 737,496
-89 3,719,600& *x31H x12& 1,383,692
— A grE 3,071,900& x40 x12& 1,474,512
—Aagn 2,258,200& x59H x12& 1,598,806
— A BEAL 1,873,000& x43H x12& 966,468
O&z=a=+Y 462,222
Ox22E 2,130,577
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BESRAYA

EE-E-EY

ol (ALSE3AH)

SA BB O () - NRAY - HES il
—Al2teI 22 1,368,739
-2y 478,247
-522fE 283,591

OFS Rt =y 856,259
-IIEE 171,120
b < Kt 40,0003 *142H x12& 68,160
- X XA 20,0003 x95H «12& 22,800
- S M 60,0003 x67H «128 48,240
AW ol: X4 100,000 x9H »12& 10,800
JIEHILE 20,0003 x88H x128 21,120
- ANESHEE+Y 467,0003 x25% x4 3| 46,700
- == = 170,280
253 0| & 130,000& 46 » 122 71,760
- 20~25 0] et 110,000& =12 »12& 15,840
- 156~20 0] e+ 80,0003 x22H x12& 21,120
- 10~15 0] e+ 60,0003 38 x12& 27,360
- 5~10& 0] et 50,0003 57 128 34,200
-RE2fse 138,240
4E 60,000 *192H x 128 138,240
- g 50,000& x5 128 3,000
-StME S 80,000& x192H x12& 184,320
-3 60,024
- S0t 34,575
-—ESe3 4,000,000& «12& 48,000
OFUZ A 130,000 x192H x 12& 299,520
OHEFIHYI 6,160,905,000& /12& x60%*23| 616,091
OHI S 4| 183,205

- =SH
294,780,000 /12& »78%*86%*1/30* 12 6,592

-2 M
6,160,905,000& /122 «86%*1/30* 12 176,613
QLAY 319,560
02 &g 2 Xl 319,560
Ooaxed 400,000& x 1 128 4,800
OF3-14- 250,000 x3H 128 9,000
oagd, « 155,000& 46 » 128 85,560
OLgE 140,000& x40 128 67,200
OAgn, At 125,000& x102¥ x 12& 153,000
|22l (22 S H) 333,856
ol =2l 333,856
201 L2l 124,204
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02 3524t 7,500 7,500 0
O332=2 2 HA 7,500
- REYSS 625,000& 128 7,500
202 O B 106,752 105,084 1,668
01 2L Y] 106,752 105,084 1,668
OJI20 bl 106,752
203 R =&Y 56,100 57,510 A 1,410
01 J|2A2H L R=XH| 12,200 12,200 0
O MNE 4,400,000 =1 4,400
OPotM HIE & 1,300,000& x6H 7,800
02 RN R =AY 6,760 6,670 90
O A& EHY| 6,760
04 ENSIHRF=EY| 37,140 38,640 A 1,500
Ot HH 420,000& x 104 A~ 128 5,040
O29otdHH 400,000 x 104 A *12& 4,800
O, =2 tNHdH 350,000 *2 A~ =12 8,400
Oz, 2, 20 300,000 *3H 2~ x12& 10,800
OA2gadd s ERS U
250,000 *200 2~ x 128 6,000
ool otd 175,000& 1 %122 2,100
204 X R =S AH| 16,800 16,800 0
01 MBS RHFH| 16,800 16,800 0
OagME 400,000& x1H x12& 4,800
On& 100,000& 39 x12& 3,600
OCtH M &, 2R 100,000& *7H x12& 8,400
405 XHAHE SH| 30,000 167,450 A 137,450
01 Mt = S F SHI 30,000 167,450 N 137,450
olelg &EH 2,000,000 *8CH 16,000
O& K= AR 6,000,000& = 1CH 6,000
OMREHA 400,000& *10H 4,000
OMRESIA 200,000& *20JH 4,000
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N = 0l & At & M A

20188 = 204 ALSHI A Ml

SN EENLLUA
B HEEAAYIINTE
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- X2 827 .26 *110L =182 E{ = 110H 18,018
— AR AL 827.26& 110 »212| & »7H 13,377
- FUHAY FHAIA S HI 4,500
Ot ™ Al EH 125,000& 34 A~ 1204 & 4,500
OAlI& & Hl s XYl 145,907
==l DI E=PN ] 100,000& *25CH 2,500
-0 HIPAXRZEHI 23,000& 15204 3,496
- S A8 A 110,000& = 1204 1,320
-2HEE 350,000 =2CH 700
- 1192 2= &l 1,000,000& «5AM E 5,000
-HHZBZYH A, SISE D 300,000 =13CH 3,900
- 2822 X4l 14,580
DA JIXN= 1,500,000& *8= *6% 720
-ols . 5U= 13,860
-S4, MANMdZ R 2 300,000& *6IH &~ 1,800
- naEJ| KX 22 15,000, 000& *6% 900
-2AZRATANAE R 22 232,033,330 *6% 13,922
- MAEH S X 22 7,600
— & AICCTVS X| &t 2| 5,000, 000& *8IH A= x6% 2,400
- NMUWeE&EH XY 80,000, 000& *6% 4,800
- 119 =208 HHE%
250,000& *2JH 2~ 500
— 1190 QX E X B MH 24
100, 000& *20 4 £ 2,000
-11972 30 ZE &2 sA22
2,000,000& 204 A~ 4,000
-Sd &Y g2 250,000& =6CH 1,500
i al—2=UNisl| 19,114
- HANHALAEY 55,875
A g Xteks X2 308,725 320,777 AN 12,052
201 et A | 307,825 320,777 N 12,952
02 3524t 307,825 320,777 N 12,952
O0332= % HA 66,979
- XS XA 250,000 *x4CH x13] 1,000
-NsSiAEE S 58,061
- XANEHESSAIE 1,925
5 0 & 35,000& *13CH *23] 910
5& 0] 8t 35,000& *29CH x13] 1,015
- NESESAE 1,593
- HE X 61,000 *8CH *13] 488
- S 53,000& *17CH *13] 901
A 51,000& *4CH*13] 204
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S X A

X{ XH -
S =

R AYBENE(AYSHA) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

-S&ig JUNMEHZ 4,400
== Xt 880, 000& »504 4,400
O Xt &k Bt 240,846
-AESE 4,390, 0003 =2CH 8,780
-=8358 4,486,000& =3CH 13,458
-SEsE 5,820,000& *5CH 29,100
-HEgsg 9,894,000& = 1CH 9,894
-4 832 3,874,000 «3CH 11,622
-S832 4,080,000& =1CH 4,080
-gs g 7,570,000 *6CH 45,420
-F2=2x 7,544,000& =8CH 60,352
=N} 3,876,000& =150H 58,140

405 XtabF SHI 900 0 900

01 AL =2 EF SHI 900 0 900
Oxtsg g9 A 300,000& =1CH 300
OxteEg dlglAHolA 300, 000& *=2CH 600

A8EXOHESYH 317,341 193,097 124,244
= 317,341

101 @121l 183,579 74,200 109,379
= 183,579

02 JIEt® 2% 183,579 74,200 109,379
OAagtExXold 29 183,579
= 183,579

201 LEt2 A Y| 106,533 99,997 6,536
= 106,533

01 AFR2t2l bl 106,533 99,997 6,536
Ooagtgxold 29 106,533
= 106,533

202 (4] 19,579 13,500 6,079
= 19,579

01 2L Y] 19,579 13,500 6,079
OAagtgxXold 29 19,579
= 19,579

203 R =&lY| 7,650 5,400 2,250
= 7,650

04 ENSIHRF=EY| 7,650 5,400 2,250
Ooagtgxold 29 7,650
= 7,650

AYUHHARLFX 689,179 665,873 23,306

201 L2 | 165,020 162,633 2,387

01 AR 22| bl 164,520 162,633 1,887
OdetE A =ZH| 32,000
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2N
X ZH -
L= B

el

SA B ER(EN) - AR - BES of & o4 San HIDZ2
AgExHE 2 (XA) 38,816 38,880 NG
201 £et23E | 38,016 38,880 A 864
01 At 22l bl 38,016 38,880 A 864
OA =823 SAH 38,016
405 THatF S 800 0 800
01 ML ESFHSH 800 0 800
Ooadd =4 TV 800
S¥SALAE L (ALSEIH) 997,706 581,079 416,627
e 305,100
= 692,606
HyEgssEiY 256,146 153,659 102,487
A 105,100
= 151,046
201 2yt 2 Y| 22,300 22,300 0
A 2,500
= 19,800
01 AtR 22l | 19,800 19,800 0
Os4dl 15,000
-MHEY £S5 € 2EFI SAH| 15,000
ogxtz 4,800
-t S AU X 300,000 «2CH 83! 4,800
03 A= S HI 2,500 2,500 0
Ods+x 2Yzd 2,500
EN 2,500
206 M =24l 85,660 95,604 A9,944
e 2,100
S 83,560
01 = dl 85,660 95,604 A9,944
O3B & 2 A 3f 2F Hl 15,000
Ogag=0tA3a 200,000& =204 4,000
ogsates 20,0003 100 2,000
ORAIEN=PUBEAES 20,000 *8LH x523] 8,320
OM97 =%t ttasd 15,0003 *8CH 73] 840
ool SSXIES
1,200,000& =8CH 23] 19,200
O sl 282cld 28ES
3,000,000 2Kl & 6,000
OM9sES+xe WE3tEE 1,000,000 44 2 4,000
Osdsdy 556 50,000& =304 1,500
ONtHE F=AMIl NE 80,000& *10AI E 800
OEHMAN 225 5,000 «200 4 1,000
O=&USI| 40,000 10074 4,000
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SN BENR
PN

BE: Hy -
tel: E¥USAYAEL(ALSEIA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OstMgle ¢ditE XIE 4,500
e 25,0003 5001 23| 2,500
-—H=SZEE 2R 20,000 5001 x23] 2,000
OFALHE JI=AEANE ES 4,500
- 43| 25,0002 1004 2,500
—H=3E2E 2| 20,0002 1004 2,000
O sAIH Fe5=Z2U F=A3
500,000& »2H 1,000
Ofldls=S Z&HHIMNE 2,000,000 2Kl E 4,000
OHMFALZH 450,000& x2AMI E 900
Ot MHAA THAHAME EEF 2,000
O2daRx 2Y4EEsE 2,100
EN 2,100
301 et a3z 3,900 3,600 300
EN 500
< 3,400
09 &AL HIB A S 2,900 2,600 300
Odgzxz=d & MHHEE It X3
8,000 x100Y *33] 2,400
Odagz=x 2g¢sd ItA X3 500
N 500
MIIEBEAS 1,000 1,000 0
OAYHY U LY RBUA AT
100,000& =10 1,000
401 Al HIZ 201 I 750 2,000 A 1,250
01 A& 8l 750 2,000 A 1,250
OMIat X EX 2 AX| 250,000 *30H & 750
405 RHoHE S HI 143,536 30, 155 113,381
N 100,000
< 43,536
01 et EFFHSHI 143,536 30, 155 113,381
Ozt & & &l 11,536
—AYSA 88,0003 1401 3= 3,696
-fFEts 2& 340,000& *14CH =14 4,760
-lsastdEdEX 70,000& =144 980
-YIIEE 300, 000 7K 2,100
OYst=HE DI 12,000, 0002 = 1CH 12,000
OSF=HEIN(XLH) 1,500,000 *2CH 3,000
Oogst=s2A4 x| 5,000,000 = 1CH 5,000
ORAMEIZSSE XX (UPS) 4,500,000 »2CH 9,000
oods=dA 3,000,000 =1CH 3,000
O3J15&871 &0 50,000,000 »2CH 100,000
EN 100,000
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SN EENLLUA
B HEEAAYIINTE
tel: E¥USAYAEL(ALSEIA) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
FAMAELZHEZ 299,470 43,000 256,470
A 200,000
< 99,470
401 Al Bl 28I 299,470 43,000 256,470
N 200,000
< 99,470
01 A& Bl 299,470 43,000 256,470
O2AMd =X 2M4dl X 30,680
OMHEH=& X &X 200,000
N 200,000
O2AMd 0l=& &X 28,650
O=4 Sx=ZA 22,140
O2AM 28X BtY g3 At 18,000
A E A2 52,240 62,180 A 9,940
201 £B-2d| 7,240 7,180 60
02 3322l 7,240 7,180 60
OA4&EHl =Xl 7,240
- agEs2e 20,0003 724 2o %1/2 7,240
401 Al& I 2 O8I 45,000 55,000 210,000
01 A& tI 45,000 55,000 A 10,000
O23d M4 4,000,000 *5H 2 20,000
OLstd B 2,000,000 *100H & 20,000
OL23d BSE 500,000 * 1094 2 5,000
oZgx2LU2A 317,560 290,080 27,480
301 gt 4= 286,760 274,280 12,480
03 /S L XA ZHI 286,760 274,280 12,480
OPIERS g1 31,020
- s 1,540,000& *7H 10,780
- 1,840,000& 11 20,240
OFFSES=, 159,840
-9 2 36,0003 370X x123] 159,840
o1l =l 33,300
— eIl = 90,0003 *4Z *370H *25% 33,300
g Yl #ESEX 36,000 *370 13,320
O119=S &N BSEX 20,0003 378 123 8,880
Ooxgo gl 29 &#s3H
800,000 x2H CH =12 19,200
OststdZogadll 2% 334l
800,000& x1JH CH =12 9,600
OFTHU L ALARNHZAELLU 29 254
i 800,000& x1JHCH =12 9,600
o2l Hegs 2FXA 2,000
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SN EENLLUA
HE: HYBAAUIIMDE
el HEUSAYEEL(ALSSEIN) (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
401 AIEBI L 2CHEI 23,400 15,000 8,400
01 A& dl 23,400 15,000 8,400
OEHEAAU AHRA Zd 23,400
405 AH&tE = HI 7,400 800 6,600
01 ML ESFHSH 7,400 800 6,600
O1M9== &AL WFE 0L 400,000 14 400
OMNM9=SdAt WFEE MASI 400,000& 14 400
O2EHLEdLU AR 2EE=8 6,600
AHA2E 31,540 32,160 A 620
201 2Bt | 24,500 26,000 A 1,500
01 AtR 22l | 7,500 9,000 A 1,500
Oget+=gH| 6,900
-020l AAEE NII=E 3,000
—SEXEA 2,900
O =% 300,000& *8IH 2 2,400
sSER0= 500
-—dlads WS 29 1,000
O2g4+g 600
—EXABAN MARIRSY
100,000& 2 204 £ 2 400
—dHAME JAUS HARESE
100,000& =2 200
03 #ArEEHI 17,000 17,000 0
OOtAHO &0l At mal 4,000
oA siisl 3,000
ongag 29 2,600
Oolglol 1198t0te =M 4,000
OdHAds JAUE 1,800
OSZ&HA 100,000& 4«44 £ =2 1,600
301 LetE o= 7,040 6,160 880
09 BAMAHIEAS 7,040 6,160 880
Oagoy &AL FIHA =4 8,000& «150& 1,200
OctAG 20l Aot WA I S4
8,000& =180 1,440
OMNMoAg s sl HIHA =4 8,000&+150L 1,200
Oolelol 1198t0te =M &EIHA =4
8,000& 400 3,200
SHIHHLE S5 40,750 0 40,750
201 fEt2E | 14,200 0 14,200
01 AR 2218l 14,200 0 14,200
O+t 14,200

_45_




2N
X ZH -
L= B
el

HENRL
ggsysgiiey
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201 LEt2 A Y| 126,226 125,589 637
01 AR 22| bl 118,726 118,089 637
OJl2+2H| 25,146
osg9=+4¢ 52,000
-ga8ag 52,000
@OPIE==2=3:| 41,580
02 53294l 7,500 7,500 0
O332=2 % HAl 7,500
-REYsz 625,000& = 12& 7,500
202 04 b] 110,088 109,532 556
01 2LHOHI 110,088 109,532 556
OJI20 bl 110,088
203 € R =&lY| 56,880 58,290 A 1,410
01 J|229 PR =&Y 12,200 12,200 0
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_48_




N & o & AF & H A A
20189 = 20la ASESH A
SN BEABA
B HEEAAYIINTE
cel: AUSSIE(ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
EFAYAM 13,672,467 14,140,862 A 468,395
=2 157,972
N 75,100
< 13,439,395
HESTHALAYI|BIRS 2,432,239 2,617,030 A 184,791
2 157,972
EN 75,100
< 2,199,167
2L SNEA(ALYSESAH) 1,564,699 1,634,869 270,170
= 157,972
< 1,406,727
ALIMLEH S 2L 387,941 387,418 523
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Oz2tE o & E 7,400
405 XtabF S| 38,850 0 38,850
01 AL 2B F SHI 38,850 0 38,850
O&IIZ23 25,850
OR4d= 13,000
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43 60,0003 x170E x12& 122,400
- g 50,0003 »4H 128 2,400
-StME S 80,000 *170H «12& 163,200
-3 32,638
-E£3tat 3 1,250,000& 128 15,000
OFS =] 130,000& x170H 123 265,200
OZEF Il 581,758
-2 5,817,571,000& /128 *60%*23] 581,758
OHIE 4| 173,363
- =M
294,780,000 /12& »78%*86%*1/30* 12 6,592
-2 M
5,817,571,000& /122 «86%*1/30* 12 166,771
204 XA Hl 290,700
02 g2l 290,700
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SN BEFAYM
B BHLAAU (BEAYN)
Crol: o2 oyl (2SS H) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
(@FE=IPS| 400,000 x 18 x12& 4,800
(OFES=10= 250,000 x3¥ x12& 9,000
(@FES=1c I 155,000& 59 x12& 109,740
Oagt & 140,000& x37H x12& 62,160
Oagtm At 125,000& *70H = 12& 105,000
Jl2HH(AeEYEH) 311,191 350,628 N 39,437
Jl23Hl 311,191 350,628 N 39,437
201 Bt A | 114,279 117,012 N2,733
01 At 22l bl 108,279 111,012 N2,733
OJle+=2| 21,209
OF === 52,000
-ga&ax4 52,000
(OPIE=T=2=3:] 35,070
02 35294l 6,000 6,000 0
O2222 2 MA 6,000
- REYSS 500,000& x12& 6,000
202 04| 92,852 97,856 A5,004
01 2L Y| 92,852 97,856 N5,004
OJ120 bl 92,852
203 &R =&H| 50,060 53,360 A 3,300
01 J|22HLR=AH| 10,900 10,900 0
O8N E 4,400,000 *1¥ 4,400
OOorHM HIE & 1,300,000& *5H 6,500
02 RAIINMHR2FAH| 6,100 6,280 A 180
OZ&E A& & H| 6,100
04 ENSI R =AY 33,060 36, 180 N 3,120
O YoM HH 430,000 10 A =12 5,160
O=xote =9 A4 otH Ml EH
350,000 *3 A x12& 12,600
OgdRotMHEH, 2R 300,000 *20H 2~ x12& 7,200
O™l S22
250,000 #2002~ x12& 6,000
ounlgotA 1t 175,000& 10 A x12& 2,100
204 &2 = A | 15,600 16,800 A 1,200
01 XS RHAH| 15,600 16,800 A 1,200
OagME 400,000 x 1 x12& 4,800
O& 100,000& *3H x12& 3,600
OCtHHMIEHE, 2XRUE 100,000& »6H x12& 7,200
405 Ko SHI 38,400 65,600 N 27,200
01 JHMtY = ZF SHI 38,400 65,600 N 27,200
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SN BFASNA
Ha: YHSAAU (BELYAM)
Sl IR (AYSESH) cHel E )
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
onerg 374 2,000,000 = 14CH 28,000
OZIZelE (AMdzet) 1,000, 000& »2CH 2,000
O&EX= AL 6,000,000 = 1CH 6,000
OWa1(500L)00 & 1,200, 000& 204 2,400
MRS (EF4YAM) 543,270 556,740 213,470
HEHHXES(AESE3H) 543,270 556,740 213,470
HEHH X = 543,270 556,740 A 13,470
705 G~ &cl34E 543,270 556,740 A 13,470
03 Al - SXYHLIIZ & &t 479,000 478,000 1,000
OSFa8AM A= 479,000
04 Al - EXISOHED IS &af g 64,270 78,740 A 14,470
OFFA2EN M= 64,270
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N & o & AF & H A A
20189 = 20la ASESH A
FMN: HMEALEA
B HEEAAYIINTE
ol AUE ST (ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
S| PSER=L 9,924,015 14,738,864 A4,814,849
= 182,938
N 25,100
= 9,715,977
HESTHALAYI|BIRS 1,834,579 2,611,279 AT76,700
2 182,938
EN 25,100
< 1,626,541
2L SNEA(ALYSESAH) 1,253,257 1,630,714 AN 377,457
= 182,938
< 1,070,319
ALIMLEH S 2L 279,698 352,559 AT2,861
201 LEr2 Y| 279,698 352,559 ~T72,861
02 2324l 279,698 352,559 AT2,861
Oz22= & HA 131,614
-0AEI FIZA 120,000& »33CH 3,960
- SHIIZAMZE 1,340
I A 63,000& *x20= 1,260
HE Y TS IOHE A 8,000& x10= 80
-3z A 100,000 » 110 2 1,100
-=2%3 F& 1,000,000& *127] x23] 2,000
—Hot+=ER3 14,088
-&JIes 46,779
- dE3EH= 19,250
-dSAEE 11,100
-0lsHdSAER 55,0003 x10CH«123 6,600
- SN RE S 3,300,000& x23| 6,600
- XNEHESH b 1703 %1,941.46m 331
—dIIZHIetdFEE = 700
=AM, etEHIH 150,000 *20H 2~ 300
X< 50,0003 =84 & 400
—uUSRLYREES 3503 *2,414.28m’ 845
—dojerE ez 108,400& =128 1,301
-3JI88) BIEEHAZ
400,000& *4CH *23] 3,200
- HEHEE SAAESAAE AES
70,0003 «3CH*12& 2,520
- I SO0SHEANLE MEZ
55,000& 60 122 3,960
- XHE2H 24 S A g =
55,0003 701 =128 4,620
—AYUEHE SE2ACUANLE AIER
55,0003 +2CH 123 1,320
O =l 48,295
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E 0l & A

Al

H . ool () - NIRAY - B il
-2 827 . 263 x 110 250 +7 [H 15,925
PN S = 827 . 263« 110 »18L+7H 11,466
— At A D) 827 . 263 x 110 x24L 6 CH 13,104
- TFUHAY FHAASHI 7,800

=AM 400,000 x 10 128 4,800
OFM Al E 125,000 200 2+ 12& 3,000

OA& EHI®Xdl 99,789
— DI DI X 100,000& »22CH 2,200
-l R RS EH| 23,0003 =62CH 1,426
- &FH S22 200, 0002 »7CH 1,400
-3 AYEH| 110,000& = 10CH 1,100
-2HEE 350, 0002 »2CH 700
- 1195 &2 =&l 1,000,000 1AMl E 1,000
-2 =ZdAN,E &0 300, 0002 »4CH 1,200
- f4d=2%XHl 15,330

08, J1X= 1,500, 000& *17= *6% 1,530
-0l , 7U= 1,000, 000& x230= *6% 13,800
—-SH , dadzRI2E 300,000 304 & 900
—weds XL 22,000,000 *6% 1,320
—2aR=AAE S 2el 232,033,330 6% 13,922
- M AEEH| & A& 6,275
— E AMCCTVR Al 2t 2l 5,000, 0003 *3JH 2~ *6% 900
1190/ & g2
250,000 *9H A 2,250
1194t I X E X HIE =
100, 000 & +27 4 & 2,700
1197220 2Z & SR &2
2,000,000 =14 2 2,000
EHTH A2 250, 0002 »5CH 1,250
SEALUSR 2el 200,000 x241 2 4,800
ak—2 Y] 11,716
- ENEALEA 22,000
- T SA L2 E 2 450,000& x123| 5,400
PUE=ES DN R Xl 273,844
201 £B-2dH| 273,844
02 3323l 273,844

O3 & HA 47,878
- Xt= XAl 470,000 *3CH 13 1,410
-Nsi BEE 39,718
- AEHSZAR 2,030

54 0] & 35,000 «16CH 23] 1,120
5402t 35,000& *26CH 13 910




S RS RS EAR=

&
HE: ERBAAYIIUTS
=13 (

S

Gl AT (AYSHH) (e9:a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2

-S&ig JUNMEHZ 4,720
- =& Xt 1,200, 000& *1CH 1,200
==Xt 880, 000& =4H 3,520
(@PNE=FaR=1a:] 225,966
-AESE 4,390, 000& =2CH 8,780
-SESE 4,486,000& =3CH 13,458
-85 5,820,000& =3CH 17,460
-agss 9,894,000 = 1CH 9,894
-AEGE 3,874,000& ~6LH 23,244
-E832 4,080,000& =3CH 12,240
-UHEs2 7,570,000& =7 CH 52,990
- 22X 7,544,000 *x6CH 45,264
- IOXt 3,876,000 =11CH 42,636

AUtEXQOIHER2SH 182,938 123,383 59,555
= 182,938

101 @1 21| 86,072 39,500 46,572
= 86,072

02 JIEA 2 %= 86,072 39,500 46,572
Oagtgxolda 2 86,072
= 86,072

201 et A | 89,285 75,283 14,002
= 89,285

01 At 22l ] 89,285 75,283 14,002
OAagtE X0l 29 89,285
= 89,285

202 04| 4,131 3,800 331
= 4,131

01 2LHOHI 4,131 3,800 331
Ooagtgxold 29 4,131
= 4,131

203 ¥R =&H| 3,450 4,800 A 1,350
= 3,450

04 EXNSHLRF=AH| 3,450 4,800 A 1,350
OAagtgxXold 2 3,450
= 3,450

ASHEHAREX 444 608 701,473 N 256,865

201 L2yl 117,216 162,633 £ 45,417

01 AR 22l ] 116,716 162,633 N45,917
Oogerd a+2H| 32,000
ozg=s4Y 3,720
—2dAEE 3,120
MNENR 130, 000& *2H x4 3] 1,040
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2N
X ZH -
L= B

el

BB - S (31) - MRAY - BES Ol &t o San HmEET
01 At 22l 4,752 5,760 A 1,008
OMNsI=eRe FAY 4,752
LASABL(ASSHSIHA) 581,322 980, 565 A 399,243
A 25,100
< 556,222
SSS Y 117,572 138,915 A21,343
EN 25,100
< 92,472
2 B2 | 19,900 19,900 0
N 2,500
< 17,400
AtS 22l ] 17,400 17,400 0
Oz 4l 15,000
- HHEE 55 & 2HEI =4l 15,000
ogxtz 2,400
—-SIHEZF=E2ZHI X 300,000 «2CH «43] 2,400
HALZ E I 2,500 2,500 0
Odesxx Adsd 2,500
EN 2,500
M=l 60,940 87,525 A 26,585
EN 2,100
< 58,840
M= dl 60,940 87,525 AN 26,585
O3 & A 32k TH 7,500
oY =0tA3 200,000& *304 6,000
ogstzs 20,000 100 2,000
O1197 X &S 20,000 *6CH x523] 6,240
ONM97Zxt dtasd 15,000& =60 x153] 1,350
oNMg==2l 8SMxES
1,500,000& *6CH 23] 18,000
O1197 2l 2Z2Acla 2LES
3,000,000& 1AMl E 3,000
OsgsdY =& 50,000% 104 500
OOHE =AM ME 100,000 *30MI E 3,000
OYIMAH AL2 5,000& 5004 2,500
OstMels ¢S XE 4,500
- 43| 25,000& 5001 23| 2,500
—H=EZEE 2 XD 20,0003 5001 23] 2,000
OFLAHE JIZLEANE B2 2,250
- A3 25,0002 504 1,250
—H=3d2g 20| 20,0003 504 1,000
OtTHALA THAHAME EEF 2,000
Ods7x Adsd 3 2,100
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2N
X ZH -
L= B

el

R & A A
HEEA ALY
HEUHSAYABY (LY

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
A 2,100
301 dEtEAZ 3,900 3,600 300
A 500
< 3,400
09 HALAHIBEA = 2,900 2,600 300
OASTTZEY Y MU X
8,000& x150H 23] 2,400
O2Z23x AdtEd FIHA XS 500
o~ 500
11 IIEtE A2 1,000 1,000 0
OAYHE o HUEE S22 AT
100,000& *10H 1,000
401 AIEHIL 20| 20,000 0 20,000
S 20,000
01 A& HI 20,000 0 20,000
OAZI=SHE AMSHOAHAIAE
20,000, 000& =14 20,000
o~ 20,000
405 XtabF SHI 12,832 27,890 A 15,058
01 AL 2 EF SHI 12,832 27,890 A 15,058
O3t M &2 & Y| 9,832
—ABSA 88,000& x 170 x2= 2,992
-Rus 2F 340,000 *6CH =11 2,040
- =82 E 400,000& 94 3,600
-SASTHYes 200, 0003 =64 1,200
OS2 NEIN(XE) 1,500,000& *2CH 3,000
HAMALEHEZ 62,000 160,300 A 98,300
401 Al B 20 HI 62,000 160,300 A 98,300
01 A& HI 62,000 160,300 A 98,300
O2Ad HMHE W SEIE SA 15,000
OgaH19XIE ] 28 2 12,000
O2Ad 15 8 €A WX SA 10,000
OFZ119X U agtsA AU &X 10,000
OFIAH19t MM HYUOMMAS L YANHSEH
ot 15,000
AEtE AL 2L 22,230 48,430 N 26,200
201 LEt2 A Y| 4,730 5,930 A 1,200
02 332494l 4,730 5,930 A 1,200
OA & &Hl S X 4,730
- A8E A2 20,000 «4730f A %1/2 4,730
401 AIEHIL 20| 17,500 42,500 A 25,000
01 A& HI 17,500 42,500 A 25,000
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FMN: HMEALEA
HE: HYBAAUI|HDE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Ooeol 11980t Al 4,000
OdHAM=s FAUS 1,800
OS XA 1,600
301 L2 A F 6,800 6,160 640
09 &AL HI B &S 6,800 6,160 640
Oagoy dA It =4 8,000& x150H 1,200
OGHAHIO 0l Aetd A FHIIK S A
8,000& x150H 1,200
O =2Ua EILA =4 8,000& 150 1,200
O0ielol 1198t0tE =M EItA4 =4
8,000& *»400H 3,200
405 RHoHF S HI 1,500 0 1,500
01 AL EZFH S 1,500 0 1,500
O0gol AgotdMns o Xt 30,000& *50H4 1,500
HY I (MELEAM) 8,049,836 12,087,085 A 4,037,249
ol (ALSEs H) 7,800,156 11,729,169 23,929,013
ol A 7,800,156 11,729,169 23,929,013
101 124 dl 7,583,556 11,412,009 A 3,828,453
01 2= 7,543,220 11,376,737 A 3,833,517
O SH 364,752
- AYH 84,864,000& »1H 84,864
- A 69,972,000 x4H 279,888
Oo=ss 4,276,821
- AgX 4,276,821
EAR= ! 4,058,100& x13H 128 633,064
Engl 3,719,600& x26H x12& 1,160,516
En 1Sy 3,241,900& x32H 123 1,244,890
EAs= g 2,544 700& x17H «x12& 519,119
A 8EAL 1,873,000+«32H 128 719,232
OFSE=E=, 327,813
Oozuz=ex¢ 1,303,614
—AN2ZAZ R 863,281
-2 276,421
- 5422 163,912
OFSELE=, 516,785
- E2=gltit= 109,080
254 0] & 130,000& »32H »12& 49,920
204 0] &f 110,000& 10H 128 13,200
- 15 0] & 80,0003 x15H 128 14,400
104 0] & 60,0003 x18H 128 12,960
- 50| & 50,0003 318 128 18,600
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S RS RS EAR=

B HHSAAL (MAHALA)
ool olEedyl (A Sl CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-Ex4 113,040
- Hi < Xt 40,0003 «91H x12& 43,680
0 (PIE 20,0003 x54H x12& 12,960
=M A 60,000& x35H x12& 25,200
A 0lE A4 100,000& x12H = 12& 14,400
JIEDL =S 20,000& x70H x12& 16,800
-NMEESHEXLS 467,000 11 *43| 20,548
-S04+ 10,061
-fEZ22sE 60,0003 x124H 128 89,280
-RALPLE 50,000& *3H x12& 1,800
- St & 3= G 80,0003 x124H ~12& 119,040
- 38,936
-2 15,000
OFHZ A 130,000& x125% « 12& 195,000
OY & =Ity| 4,276,779,000& /128 x60%*23] 427,678
OHIE Atdl 130,757
-4 EN
364,752,000 /128 x78%*86%*1/30x 12 8,156
—-23 M 4,276,779,0002 /128 86%/30% 12 122,601
03 2IHALZZXHE = 40,336 35,272 5,064
otz = 36,480
-=23 60,2403 x1H »246 14,820
R = 14,819,040& /12 x400% 4,940
-&J|2% 14,819,0403 *10% 1,482
- A2t =& 11,295& x15A| 2tx12& 2,034
- X 60,240& x20L 1,205
-F54 60,240 104 6,265
-59422sY 90,360& *14 1,266
- Y& SIHY| 300, 000& *23] 600
= JbAH X & Y] (14,819,040€ /12 ) *80% 988
- ESH| 110,000& *12& 1,320
==l 130,000& =128 1,560
@)= P R a=g= 3,856
-H2ZEE 36,476,000 *3.06% 1,117
- &I YEE 1,116,000& *6.55% 74
-=20H3 36,476,000& *4.5% 1,642
-128 36,476,000 *1.5% 548
-AMTEE 36,476,000& *1.3% 475
204 &R = A Y| 216,600 317,160 A 100,560
02 &g 8 X4l 216,600 317,160 A 100,560
(@FEY=PS| 400,000 x1H x12& 4,800
Ooagd 250,000 x4H x12H 12,000
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S RS RS EAR=

M A SAH (MEALA)
SHol: o2y (A4S H) (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET

oagd, 155,000& 39 » 12& 72,540
OoAgH 140,000& 32 » 128 53,760
Oagw, A 125,000 »49H » 12 73,500

Jledul(AgsE3A) 249,680 357,916 A 108,236

JlE&l 249,680 357,916 A 108,236

201 LB-2d| 96,040 121,689 A 25,649

01 At 2t 2l 92,440 118,089 AN 25,649
OJl2+8Hl 15,240
ozg=¢ 52,000
-gasg 52,000
OJles gl 25,200

02 =224l 3,600 3,600 0
03323 % HA 3,600
- RELSEE 300,000& 122 3,600

202 04l 66,720 109,532 N42,812

01 = LH YI 66,720 109,532 A42,812
OJlEu 66,720

203 YR =&t 37,920 55,190 A17,270

01 122 YR =4 8,300 10,900 A2,600
OxgMNE 4,400,000& x1H 4,400
OS+M HlE & 1,300, 000& *3H 3,900

02 A& H =& 4,720 6,910 A2,190
OZ & AL & 2 4,720

04 EAS2IYRFLH| 24,900 37,380 A 12,480
OSYHEH,staEH 400,000& #2001 &« 12& 9,600
os24H 350,000& * 100 & x128 4,200

OAgdd@u e MELEN

250,000 *30 & x128 9,000
OO erA It 175,000 10 2+ 128 2,100

204 AR HH| 13,200 16,800 A 3,600

01 ¥R A 13,200 16,800 A 3,600
OLYMHE 400,000 x 18 128 4,800
O 100,000& 3 128 3,600
OUMHHE, 2EUHE 100,000& x4 x12H 4,800

405 XHatE S| 35,800 54,705 A 18,905

01 et EZFH S 35,800 54,705 A 18,905
oles ARH 2,000,000& =15CH 30,000
O=ZeH 700,000& =4 CH 2,800
OgHdol oA 1,000, 0002 »3CH 3,000

N2es (ML) 39,600 40,500 A 900
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S RS RS EAR=

H: THRES(HMAEAMEA)
S HEHAHXNES(ALELEGAH) (2 &HH)
x 5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
HWEHH XS (AUEESIAH) 39,600 40,500 A 900
LHE el 39,600 40,500 A 900
705 Ol=2 2| 24aE 39,600 40,500 A 900
03 Al - EXYIHED I SUH -2 24 36,000 36,000 0
OFtatt A HE AlE 36,000
04 Al - SXEINED |20 =20 AHaHE 3,600 4,500 A 900
O3statot M HIE AlS 3,600
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SN B2AUA
B HEEAAYIINTE
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
— AR AL e D) 827 .26 110! »23Lx 1CH 2,093
- FUHAY FHAF HEHI 7,800
= A 400,000& * 1 A= 12& 4,800
Ot ™ Al EH 125,000 *2 A~ x12& 3,000
OAlI& & Hl s XYl 110,683
==l DI E=PN ] 100,000& *=12CH 1,200
-0 HIPAXRZEHI 23,000& *80CH 1,840
— =& A grE| 110,000& *23CH 2,530
-2HEE 350,000 =2CH 700
- 1192 2= &l 1,000,000& «5AM E 5,000
-HHZBZYH A, SISE D 300,000 =6CH 1,800
-2&8=281X 6,030
- I K= 1,500,000& *5= *6% 450
ols, 5= 1,000,000 x93 = *6% 5,580
-S4, MANMdZ R 2 300,000& *4JH 2~ 1,200
- naEJ| KX 22 80,000, 000& 141 x6% 4,800
- 2AZFATANAE R 22 232,0383,330%6% 13,922
- MAEH S X 22 8,100
— & AICCTVS X| &t 2| 2,038
-2 A 19,360, 000& *6% 1,162
- e A, R A 5,300, 000& *2JH A= x6% 636
- 3ol 4,000, 000& *6% 240
- 1OMH 20|18 U2
250,000& *5JH &~ 1,250
—119A R X HE A E HHES
100, 000& *38H 2~ 3,800
- 1197230 ZE 22 a sA22
2,000,000& 24 4~ 4,000
-Sd&H A2 250,000& *23CH 5,750
-2 27Xt 11,517
-EAMEALEA 35,206
LYY RI 207,295 194,193 13,102
201 et A bl 207,295 174,893 32,402
02 3524t 207,295 174,893 32,402
O332=2 % HA 28,269
- XS XA 144 ,000& *50H x13] 720
-XNsEX EE2 24,034
- XANEHESBAIE 1,435
5 0] & 35,000& *120H x23] 840
5& 0] 8t 35,000& *17CH 18] 595
- SaXY JLNMEH 2,080
- =8 Xt 1,200,000 *1CH 1,200
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2N B2AUA
X =

Ha: o

SNEAAYIYDE
Sl AYHSTH(LLSHHN) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
JEEEDN 880, 000& = 10H 880
(@PNE=FaR=1a:] 179,026
-AESE 4,390,000 *2CH 8,780
-SESE 4,486,000& *2CH 8,972
-=8358 5,820,000& *5CH 29,100
-S832 4,080,000& = 1CH 4,080
-AES2 3,874,000& «3CH 11,622
-gs 2 7,570,000& *x5CH 37,850
-Hegs& 9,894,000& = 1LH 9,894
- 23Xt 7,544,000& *x5CH 37,720
-Z-IOXt 3,876,000& =8LH 31,008
AE8BX0HE2YH 77,143 69,326 7,817
= 77,143
101 2121 d| 36,143 23,500 12,643
= 36,143
02 JIEA 2 %= 36,143 23,500 12,643
OAYEZTOI 2 36,143
= 36,143
201 LBt Y| 37,765 41,126 AN 3,361
= 37,765
01 At 22l ] 37,765 41,126 N3,361
OAgExod 24 37,765
= 37,765
202 04| 1,735 2,700 N 965
= 1,735
01 2L Y| 1,735 2,700 A 965
Oagtgxold 29 1,735
= 1,735
203 R =&H| 1,500 2,000 A 500
= 1,500
04 EANSHLRF=XH| 1,500 2,000 A 500
Oagtgxod 29 1,500
= 1,500
AEHNEAHAREX 398,390 401,270 N 2,880
201 et A H| 108,410 107,910 500
01 At 22l ] 107,910 107,910 0
Ogetd a+2H| 32,000
O = 3,720
-2 MY 3,120
MNEDNR 130, 000& *2H x4 3] 1,040
lE X & SZHXLNR
130, 000& *2H x4 3] 1,040
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SN B2AUA
B HEEAAYIINTE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SANSALSEEL (ALEHSIHA) 898,907 561,750 337,157
A 5,100
< 893,807
SAEssHM Y 91,587 94,720 A 3,133
EN 5,100
< 86,487
201 £8-2d | 14,900 14,900 0
EN 2,500
< 12,400
01 At 22l 12,400 12,400 0
OF=gay] 10,000
- MHHEd £ & EHEI =44l 10,000
Oogxtz 2,400
-SIHEE=E2EHIYI 300,000 *2CH 43| 2,400
03 A2 S HI 2,500 2,500 0
Odaz=x ags=d 2,500
EN 2,500
206 M= Hl 58,475 62,950 A4, 475
EN 2,100
S 56,375
01 =8l 58,475 62,950 N4 475
OSHH &2 A 3tk HI 7,000
Ogdegdr=0tA3 200,000& =304 6,000
gotzs 20,000& 100 2,000
O1971 & A= 20,0003 «5CH «523] 5,200
ONM97Zxt &asH 15,000& x50 x153] 1,125
o192l SsSHIES
1,200,000 501 23] 12,000
Ol 22y 2ZES
3,000,000& 2Kl E 6,000
O=sdEd% Z3¢E 50,000& %304 1,500
OOtHE =AD| ME 80,0002 »10MI E 800
OgHIMH AES 5,000& 6004 3,000
O2Z2A37| 40,000& 504 2,000
OH=Z=2d 2 XD gl 2,000 5004 1,000
OstMel=e etEitE XE 4,500
- 43| 25,000& 5001 »23] 2,500
—H=3d2g ZXD| 20,0003 5001 23| 2,000
OFLAHE JI=LSANd B2 2,250
e 25,0003 504 1,250
- H=3EBE 2| 20,000& 504 1,000
O=tMAL HHAME EES 2,000
O3 AL=HES 2,100
EN 2,100

_75_




SN B2AUA
B HEEAAYIINTE
SR HISAYADY (ABSHEN) (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
301 dEtEAZ 3,900 3,600 300
N 500
T 3,400
09 HALAHIEA = 2,900 2,600 300
O2gxx=d & MHEd &ItA N
8,000& x150H *23] 2,400
O223x AgtEd FILAXAE 500
o~ 500
M IIEIE A S 1,000 1,000 0
OAagad & IHHEE 302100 AT
100,000& *10H 1,000
405 XtabF SHI 14,312 13,270 1,042
01 AL 2B F SHI 14,312 13,270 1,042
O3t & 2 & Y| 7,812
- AYSA 88,000& x 120l x2= 2,112
-Fus 23 340,000 *12CH 14 4,080
- lsAstE el x| 70,000& *6IH 420
-YotZEg 300, 000& =24 600
- AN 120,000& *x5H 600
OS2 HEI(XEU) 1,500,000 *1CH 1,500
OogsgsAHII 5,000,000& = 1CH 5,000
HAMALEZHEZ 430,000 85,000 345,000
401 Al B 2 0HHI 430,000 85,000 345,000
01 A& HI 430,000 85,000 345,000
OFRYuHEH 258 5 400,000
Oolaal sFIM|A 30,000
AEtE AL 2L 31,910 38,290 N 6,380
201 LEr2 Y| 1,160 1,040 120
02 332494l 1,160 1,040 120
OA & &Hl S XY 1,160
- A8E A2 20,000 1160 A %1/2 1,160
401 Al HI L RO HI 30,750 37,250 6,500
01 A& HI 30,750 37,250 A 6,500
O4gd MM 4,000,000& *3H A 12,000
OA23d B 2,000,000& x4 A~ 8,000
OAstd E5E 500,000& *574 A 2,500
OagEs TA& 250,000& =150 2~ 3,750
Odl&adAzIEE AX 1,500,000& *3J4 4 4,500
ogadtiiey 316,660 314,560 2,100
301 YerE A3 314,560 314,560 0
03 2SAYUUAIABY 314,560 314,560 0
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SN B2AUA
B HEEAAYIINTE
Sl IS AYABY(LLSHIN) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OdctAHH el 0] Agtotd Al Z=ILX S 4
8,000 180 1,440
Oo1MgagtseUs 22X =4 8,000&«150H 1,200
Ooelol 11980t =X &R =4
8,000& *300H 2,400
HH2HAL (BE248A) 7,473,577 7,054,456 419,121
ol 2AH|(ABSEF H) 7,258,613 6,829, 106 429,507
ol 2| 7,258,613 6,829, 106 429,507
101 2124 d| 7,062,413 6,645,026 417,387
01 2 7,062,413 6,645,026 417,387
OdSH 294,780
= S| 84,864,000 x1H 84,864
-A8d 69,972,000 *3H 209,916
O&ZN 4,058,709
- A8HE 4,058,709
A8 4,130,600& x11H ~12& 545,240
= 3,719,600 »34H «12& 1,517,597
E=lNs 3,009,600& *x40H «12& 1,444,608
Eng=1ami 2,333,000 13 «12& 363,948
A BEAF 1,951,200 x8H »12& 187,316
o83zs¢ 322,745
Oxh22< 1,145,964
- A2t 2R LE 764,786
- 0222 239,286
- 54224 141,892
OFH+Y 507,632
-ItEss4 119,760
bl < Xt 40,0003 «87H x12& 41,760
P PIE 20,000& x66H x12& 15,840
= M X4 60,0003 44X x12& 31,680
) (I E=NNIE 100,000 *x8H »12& 9,600
JIEDLE 20,000& =87+ 12& 20,880
-ANEEHE X4 467,000 *24H *43| 44,832
-dZ2xEota3 121,560
25 0] & 130,000& x36H x12& 56,160
- 20~25E 0] 8t 110,000& x23H x12& 30,360
- 15~20 0] 2t 80,000& x14H x12& 13,440
- 10~15& 0] et 60,000& x15H x12& 10,800
- 5~104 0| 8+ 50,000& «18Y¥ x12& 10,800
-E22+E 79,200
235 60,000& x110Y ~ 128 79,200
- 0IAHAR 50,000& 3% x12& 1,800
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SN B2AYA
HE: HYRIFU (22ALN)
¢ HAHH(ASESESIA) ool E )
SN HH-S(BN) - MBAY - B il HlnE2
- S & 3= 80,000 110 x12& 105,600
-3 34,880
O=0FE 2,476,000 x40%*2H » 12& 23,770
OEsHet3 700,000& 123 8,400
OFUZ A 130,000& x110H x12& 171,600
OHEFIHYI 4,058,709,000& /12 *60%*23] 405,871
OHIE 4| 122,942
—-HEH
294,780,000 /122 »78%*86%*1/30* 12 6,592
-22H
4,058,709,000& /12& »86%+*1/30% 12 116,350
204 AR A H| 196,200 184,080 12,120
02 &g 2 Xl 196,200 184,080 12,120
OF - B 400,000& x 18 128 4,800
OF3-14- 250,000 x3H 128 9,000
oagd, ql 155,000& 45 » 122 83,700
OLgE 140,000& x40 128 67,200
O2gw, At 125,000 »21H 12 31,500
23l (AgsSE3H) 214,964 225,350 A 10,386
JI23l 214,964 225,350 A 10,386
201 LBH2Z| 91,996 92,370 A374
01 At 2t 2l 88,396 88,770 A374
OJlE=+=&Hl 13,716
ozg=4¢ 52,000
-gag 52,000
OPIE-I=1i:] 22,680
02 3323l 3,600 3,600 0
0333 ¥ 3,600
R B = 300,000& 122 3,600
202 odl 60,048 61,160 A1,112
01 = LH Yl 60,048 61,160 A1,112
OJI2nHl 60,048
203 R =&l 35,520 36,420 A 900
01 71228 =2H 8,300 8,300 0
OxgMNE 4,400,000 1 4,400
OS+M HlE & 1,300, 000& *3H 3,900
02 A H R =X 4,300 4,300 0
OZ& R A& F | 4,300
04 NI FAH 22,920 23,820 A 900
Osdetdud 435,000& * 1 &+« 12& 5,220
OT g arotH dl 300,000& 104 A+ 12 3,600
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2N
X ZH -
L= B

el

24N
B2 YA (B2LYA)
2 (A2 SHH)

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O2ddd N HSTPAEZFAS I, H2MorMHE,
232X 250,000 41 A~ =12 12,000
ool g otd 175,000& * 1 A% 128 2,100
204 &2 = Z H| 13,200 13,200 0
01 S HR-HAY| 13,200 13,200 0
OagME 400,000& x1H =12 4,800
Ot& 100,000& *3H x12& 3,600
OCtHHMEHE, 2EUHE 100,000& x4 x12& 4,800
405 XtabF S| 14,200 22,200 A 8,000
01 Mt =S F SHI 14,200 22,200 A 8,000
Ozog &t NE 2,000
O Ltg D] 2,000,000 *1CH 2,000
o1V 800, 000& =44 3,200
OZ2AM M D] 1,000,000& *«2CH 2,000
OlgladaEs Xt 100,000& =504 5,000

_80_




g Al A

A
=

Ol &b A

Al

@ © < s [ ==
o < o — - | —
A © © R T
L._u o ™ (e} Yo Yo Yo
n S 4 = S| < |+
Klo <
E
E=)
o [aN) < (o)) (o)) (o))
o (e} (e} © © ©
2 2 - » |[» |»
5 5 = |zlzlz
i B z 2 |&|&R
wy | ® - -
Pak=
D — O O — O o — O [ep] [ep] [ep) ()] o o o (@) () o () o o o () o o (e) () (e) (o)) o o o o o [e 0] —
O N~ O M 0 N~ O O N~ A [e @] [e o] [e o] [ee] o © ™ Y] [e] [o0) [Ce] © o <t <t [Ye) o [Ye) <t Ye) <t (=) © © Al Al Al o)
o oY o dfw o ¥ (X0 |0 |0 0O © — © < NN 9o o o o o - ® ~ S N aHd @ M ©
N~ O 1 O o O U O ™ O M~ [<o] [<o] (<o) N~ (ep] — [aV) < (V) ()] Y] o [aV) (V) (V) o™ [ (V) — < <t
- —|® & Il oS|I R KNI © - R = 2 3T
- S| 8 S|S TS |S| =
aor ) w [ — — | -
<
=}
<4 W <4 W M W
i} o o o 4 <4 W o o} ol ol ol ol fal
o o o o (aV] [eN] = [aV) — (V) [aN) (V) (V) (V) (V) N~
> - - - — X N N — x  — x — — — — x
= S S P4 B i x x x X 3
or [l o) oY oF 0 o = X W o o ™ fuay fay fuay fuay ol
o o o o o S oo o o S o ¥ © — ® N *
%0 5] 8 8 8 e S 88 =28 W * W * * ol
> > S S T o 88 2g @ o W o ogpg® gy S
BJ o ™ 0 © o K =N Yo N . S e o) S o -
. - S - © 0 A o o <= S e I< *
3D T} S ~— w - <o <o o)
e [¥e) < <0 [T} = [} ©
< n 20 © 0 0 m
-
r = S AU g
= - 0 - = - =
. < - R <0 )
o ~ 4 - iyl - o
= - z U o o 70 N R R
= o o = oM = o 0 RO M % WM _HM
ol m___ o] =z _ o I i B ~ o
s ur K ~ n0 A0 S B i | Xl ol KJ D K0 K0
o i = k|| M 0 ~ ~ < o e < = ~ K0 ~J i6J iBJ
- + M T |8 [8 O 3 & & B 6~ 0 ® R0 R0 ~ ~ iy 0
. ] Z RO[O0jog FOOH O SRR R S W 0 Mo =
Rl ~ or) ok | = [HO A0 [ I I I I I I
K0 10 < < |av |H O
0 A.A :._o ﬂo m m
3 X <0 Rl 0 [
r | o 0 <
< R0 <
L )

o




N = 0l & At & M A

20188 = 204 ALSHI A Ml

SN SHEAYA
HE: HIBAAYIIMTE
SR AUESIA(AYSEIH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- X2 827 .26& 110 »21Lx50H 9,555
— AR AL 827 .26 110 »21L+2[H 3,822
- FUHAY FHAIA S HI 6,300
=M 400,000& x 14 A~ *12& 4,800
OF N Al E 125,000& *10H A x 128 1,500
OA&E &l S XYl 85,166
a=a=uwl I RPN 100,000& =14 CH 1,400
-0y XA ZEY| 23,000& =96 CH 2,208
-sSsa AU A 110,000& =7 CH 770
-2HEBE 350, 000& =30H 1,050
- 1197 &2 X &H| 1,000,000& *2Al E 2,000
-HBZAMH, SISED 300,000& *=4CH 1,200
- 2468327 X4l 7,500
DA JIX= 1,500,000& *8= *6% 720
ols, 5= 1,000,000& x113=2 x6% 6,780
-S4, AR Z2 R X2 300,000& *2JH 2~ 600
- waI)|g X 22 22,000, 000& *6% 1,320
-2AZFATANAE R X222 232,033,330 *6% 13,922
— M AEH S X2 6,384
— & AMCCTVS Xl 22l 5,000, 000& *2JH 2~ *6% 600
- 119 =208 HHE%
250,000& *9IH 2~ 2,250
— 1190 QX E X B MH 24
100,000& *6IH 2 600
-11972 30 ZE &2 sA22
2,000,000& 204 A~ 4,000
-Sd &Y g2 250,000& =10CH 2,500
i al—2=UNisl| 5,806
- HANHALAEY 31,056
A g Xteks X2 242,411 231,856 10,555
201 et A | 237,611 212,056 25,555
02 3524t 237,611 212,056 25,555
03322 % HA 44,207
- XS XA 470,000 *x4CH x13] 1,880
-NsSiAEE S 36,847
- XANEHESSAIE 1,540
- 5E 0] & 35,000& *9CH 23] 630
5& 0] 8t 35,000& x26CH x13] 910
- SaXY JLUNEH S 3,940
- BIOX} 880, 0003 =4LH 3,520
=4 3aA X 420,000& =104 420
(@PNE=FaR=1a:] 193,404
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SN SHEAYA
B HRENAYIIUTS
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-A8SE 4,390,000& =1CH 4,390
-=8s58 4,486,000& =2CH 8,972
-Z85E 5,820,000& =3CH 17,460
-AESE 3,874,000& =6CH 23,244
-gs 2 7,570,000& *6CH 45,420
-HEgsg 9,894,000 = 1CH 9,894
-2 7,544,000& *x6CH 45,264
- E oIt 3,876,000& = 10CH 38,760
405 XtabF SHI 4,800 19,800 A 15,000
01 AL 2B F SHI 4,800 19,800 A 15,000
Oxsg g8 A 300, 0003 =3CH 900
OxteEg dlglAHolA 300, 000& =3CH 900
OSHZ PZIHA FGAXX 3,000
AEBX0HE2YH 96,071 91,970 4,101
= 96,071
101 @124 42,121 30, 100 12,021
= 42,121
02 JIEt8 2 42,121 30, 100 12,021
OagtgxXold 29 42,121
= 42,121
201 et A | 50,190 57,170 AN 6,980
= 50,190
01 AFR 2t 2l Yl 50,190 57,170 AN 6,980
OAagtE X0l 29 50,190
= 50,190
202 04| 2,110 2,700 A 590
= 2,110
01 2L Y] 2,110 2,700 A 590
Oagtgxold 29 2,110
= 2,110
203 ¥R =&H| 1,650 2,000 A 350
= 1,650
04 EANSHLRF=AH| 1,650 2,000 A 350
OAagtgxXold 29 1,650
= 1,650
AEHEHAREX 383,486 380,668 2,818
201 et A | 103,378 102,878 500
01 AFR2t2l Yl 102,878 102,878 0
Oerd A =ZH| 32,000
ozg=+4¢ 3,720
—2AAE=E 3,120
MNENR 130, 000& *2H x4 3] 1,040
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SN SHAYA
B HEEAAYIINTE
tel: E¥USAYAEL(ALSEIA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SEssHY 101,720 114,835 A 13,115
A 5,100
< 96,620
201 L2yl 14,900 14,900 0
A 2,500
< 12,400
01 At 22/l 12,400 12,400 0
O=Altl 10,000
- MHHEd &5 & EHEI =44l 10,000
Oogxtz 2,400
-SIMHEE=E2EH YR 300,000 201 x43] 2,400
03 A2 E Hl 2,500 2,500 0
Odaz=x ags=d 2,500
EN 2,500
206 M= Hl 63,420 62,640 780
A 2,100
< 61,320
01 =8l 63,420 62,640 780
OSHH &2 A 3tk HI 7,500
ogHeg=0tA3 200,000& 2574 5,000
dotzs 20,0003 x70% 1,400
OM9R =G &S 20,0003 +8CH 523 8,320
ONM97Zxt dhasd 15,000& »6CH x153] 1,350
o192l SSHIES
1,200,000 «6CH 23] 14,400
Ol 22l 2IES
3,000,000& «2 Ml E 6,000
OM9ss+=g WeES 1,000,000 «17H £ 1,000
O=sg& oY% =Z3E 50,000& 204 1,000
OOHE =AM ME 80,000& »20MI E 1,600
OgEIMAH AL2 5,000& 6004 3,000
OsZ243| 40,000& «50H 2,000
OstMel=e et™itE XE 4,500
- 23| 25,000& 501 »23] 2,500
- H=3BE 2| 20,000& 5001 23| 2,000
OFLAHE JI=ASANd B2 2,250
- 43D 25,000& 504 1,250
-—H=SZEE 2R 20,0002 504 1,000
O=tMAL HHAME EES 2,000
O=7x AUSHEES 2,100
EN 2,100
301 LEtE A= 3,900 3,600 300
N 500
< 3,400
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SN SHEAYA
B BRENAYIIUTE
Sl IS AYABY(LLSHIN) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
09 HAIAHIBEAZ 2,900 2,600 300
Oo2Z23xxsd & MHsSEd 2IHA A&
8,000& x150Y 23| 2,400
O2Z23x AttEd FIHA XS 500
N 500
11 IIEtE &2 1,000 1,000 0
OAgad & IHHEE 302100 AT
100,000& *10H 1,000
405 XH&HF S HI 19,500 33,695 AN 14,195
01 JHAY 2 E F S H 19,500 33,695 AN 14,195
O3 & 2H & H| 9,420
—AgSA 88,000& *10CH x4 =2 3,520
-Rus 2F 340,000 x10CH =14 3,400
- EMHdHCD 250,000& = 10CH 2,500
Ot & B 2s 2,080
Ooolsg sgadtgo 8,000,000& = 1LH 8,000
HALAIE EHI 22 55,216 34,753 20,463
401 Al HI YL 2 0HHI 55,216 34,753 20,463
01 Al&H| 55,216 34,753 20,463
SAME HAHH L SAHMA 29,216
O2Md 0Ils& &X 18,000
O HEEH ABXD HEE 22 AL 8,000
A8 E L AL 22 32,970 32,930 40
201 et A | 1,970 1,930 40
02 3524t 1,970 1,930 40
OA& &Hl S XYl 1,970
—-AggEs2 20,000 197 A +1/2 1,970
401 Al HI L 2 0HHI 31,000 31,000 0
01 Al&H| 31,000 31,000 0
O4gdE MM 4,000,000 #2204 A~ 8,000
OAStN B4 2,000,000& *504 A 10,000
Oastd BESE 500,000& *504 A~ 2,500
OaxstEs HAIE 250,000& #2204 A~ 500
O”l&4ASIEX & 10,000,000& *1JH 2~ 10,000
oErYSY 288,900 288,900 0
301 LBt A= 288,900 288,900 0
03 o sSAYUHAIRAZH] 288,900 288,900 0
OXH&s =2 34,060
- 1SS 1,540,000& *3H 4,620
— st 1,840,000 16X 29,440
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SN SHEAYA
B HHSAAL (SHALN)
Crol: ol oyl (LY S ) CERED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
AR AH(ALELFIA) 6,132,585 6,005,792 126,793
g =gl 6,132,585 6,005,792 126,793
101 Q124 4] 5,956,305 5,839,952 116,353
01 2= 5,956,305 5,839,952 116,353
OosH 294,780
-AYE 84,864,000& 1 84,864
- 42 69,972,000& *3&H 209,916
OE=H 3,318,884
- AgH 3,318,884
B 4,097 ,200& 10F ~12& 491,664
22 3,675,700 x20H x 12 882,168
B 2,943,800 x26H x 128 918,466
Eng= )] 2,258,200 x25H x 12 677,460
22 AL 1,711,400@ x17H 128 349,126
od=2=¢ 255,488
Ozxu==2=¢ 1,061,608
-A2ZAZ2SE 707,727
-opA=2 g 222,150
-5422=+ 131,731
OF~ELE = 432,802
-IE=E 107,520
B <= Xt 40,0002 x70H x 12 33,600
A I PIE 20,0003 x52H 128 12,480
LI PE 60,0002 x43H x 12 30,960
AW ol K+ 100,000 11E «12& 13,200
- JIEFIHS 20,0002 72«12 17,280
- MESHExE 467,000& x10Q »4 2 18,680
-d2=gotits 90,600
- 2501 & 130,000& 22 «12& 34,320
- 20 ~25 0] & 110,000& 11H ~12& 14,520
- 1568 ~20 0] B¢ 80,0002 x13H 12 12,480
- 10 ~15= 0] & 60,0003 x24H 128 17,280
- 5@ ~10E 0] 2t 50,0003 x20H «12& 12,000
-fEg2f+g 73,440
a3 60,0002 «1028 »12& 73,440
- eRg 50,0003 x3H x12& 1,800
-3 ME S 80,000& x102& «12& 97,920
-UesFaEArE 13,754
-S0sd+E 20,688
-E3htt= 700,000& 123 8,400
OFA=AH| 130,000& 102 x 128 159,120
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SN SHAYA
B HHSAAL (SHALN)
Crol: o2 oyl (LY S H) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OY&E S| 331,889
-2 2N 3,318,884,000& /128 x60%*23] 331,889
OH I8 AtY| 101,734
-4 EN
294,780,000 /128 78%*86%*1/30% 12 6,592
N
3,318,884 ,000& /12& *86%*1/30% 12! 95,142
204 &2 = A H| 176,280 165,840 10,440
02 28 xH| 176,280 165,840 10,440
(@FES=1PS) 400,000& x1H x12& 4,800
(OFE=10= 250,000 »3H = 12& 9,000
(@FEAS=10nC I 155,000& *30H »12& 55,800
Oaga 140,000 x26H x12& 43,680
OAagtn, Ab 125,000 x42H = 12& 63,000
Jl2HL(ALELEH) 198,893 226,806 N27,913
o=l 198,893 226,806 ~27,913
201 et A | 89,637 89,674 N37
01 AFR2t2l bl 86,037 86,074 N 37
(OPIR=2=8=2:] 12,827
o294 52,000
-g&aY 52,000
(OPIE=T=2=3:] 21,210
02 3524t 3,600 3,600 0
o232 ¢ MA 3,600
-REYSS 300,000& x12& 3,600
202 (4] 56,156 56,712 A 556
01 2L Y| 56,156 56,712 AN 556
OJle0 ] 56,156
203 ¥R =&Y 31,100 32,000 A 900
01 J|22IHRF=XY| 7,000 7,000 0
OagME 4,400,000& =14 4,400
OPotH™ HIE & 1,300,000& x2H 2,600
02 RN R = XIH| 4,060 4,060 0
OXE A& EH| 4,060
04 2SI L RF=AH| 20,040 20,940 A 900
O=2 1190t H Al EH 445 ,000& 1 A~ = 12& 5,340
O A1190H A Ml EH 300,000& * 10 A~ %128 3,600
OAagteid)} HSPEFSU, s 2
250,000& *3H A~ x 128 9,000
ool g oA 175,000& 11 A~ x 12 2,100
204 X2 =2 F | 12,000 12,000 0
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SHAYA
HHS YA (SHLYM)
EETIES TSR

SN HH-S(BN) - MBAY - B il HlnE2
01 ¥R A 12,000 12,000 0
OxgMNE 400,000& *1 4,800
OmE 100,000& *3 3,600
OMHEHE 2EHE 100,000 *3 3,600
405 TtHobF S| 10,000 36,420 A 26,420
01 AL ESFHSHI 10,000 36,420 A 26,420
O& XK= AT 6,000,000 = 1CH 6,000
OAHE A 2,000,000 = 1CH 2,000
O& A 500,000& = 1CH 500
O« 30| 100,000& = 15CH 1,500
B (sdaEA) 235,875 241,000 A5, 125
WEHAXS(ALELIIH) 235,875 241,000 25,125
HEHH X = 235,875 241,000 25,125
705 =32l 34 235,875 241,000 25,125
03 Al - EXGHED SH =234 205,000 205,000 0
O=2FLEN M= 205,000
04 Al - SN SNLI S0 =30 A&kt 30,875 36,000 A5,125
O=2&dLEAN A= 30,875
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BB - S (31) - MRAY - BES Ol &t o San HmEET
U EE SNNSNAE ABE
70,000& 501 128 4,200
—AYUEHE SE2ACUAMLE AIER
55,0003 +2CH 128 1,320
oozl 35,693
-2 827 . 263 x110L *17L~10CH 15,470
- Xz 827 . 263 x 110 x17L»2[H 3,094
— AP A D) 827 . 263« 110 x17L+7H 10,829
- FHAY FHAHZ 4 6,300
= 400,000& * 100 &+ 12& 4,800
OFM HI E 125,000 * 10 2+ 123 1,500
OA& &8s Xl 107,046
== W RSN | 100,000& = 19CH 1,900
A= R = g 23,0002 *56CH 1,288
—sdAYEH| 110, 000& *7CH 770
-2HEE 350, 0002 »3CH 1,050
- 1195 &2 =&l 1,000,000& 2Kl E 2,000
-3 =Zd M, SISEDI 300, 0002 »4CH 1,200
- f4d=%X4| 9,720
MESEPIPNE 1,500, 000& *12= *6% 1,080
-ols. 5U= 1,000,000& » 144 =2 6% 8,640
—Sd HAE 2RI 2 300,000 *20H 2~ 600
—wEIsi2el 113,433,000 *6% 6,806
—2aR=AAE S 2el 232,033,330 6% 13,922
- dAEH R A 22 7,476
— E AMCCTVR Al 2t 2l 5,000, 000& *2H 2= 6% 600
—19MEE20/8 FHIE=
250,000 * 110 & 2,750
- 1ML 2AXEX B ZHES
100,000 3104 & 3,100
-11972 20 28 2eld |2
2,000,000 =34 2 6,000
- HE KA 13,424
- EAEALEY 30,240
- 2a=ZSAlE e 2 350,000& »12& 4,200
LAY TE R A2 313,546 318,951 A5,405
201 LBH2d| 306,946 291,711 15,235
02 8322l 306,946 291,711 15,235
O3 & HA 75,422
— XS XAl 470,000 +8CH+13] 3,760
-Nskt EEE 60,157
- AEHSZAR 2,065
- 53 0] & 35,0003 x17CH 23] 1,190
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MY . B (3H) - NEAY - BAS ofl &k o San HDE2

54 0] 8t 35,000& x25CH x 13l 875
—EAR 9,440
=2&X 1,200, 000& «2LH 2,400
& = Xt 880,000& *8CH 7,040
O Xtk ghHy| 231,524
-AESE 4,390,000& = 1CH 4,390
-85 4,486,000& =2CH 8,972
-HE(dK) 3,982,000 = 1CH 3,982
-S8s5E 5,820,000& =4 LH 23,280
- 4832 3,874,000 x5CH 19,370
-S832 4,080,000& = 1CH 4,080
-Egs 2 7,570,000 «9CH 68,130
-2 xt 7,544 ,000& =7 CH 52,808
- -t 3,876,000& = 12CH 46,512

405 Ko S HI 6,600 27,240 N 20,640

01 JHAHE =2 Z F S H 6,600 27,240 N 20,640
Oxsdg S A 300, 000& * 14 300
OxzEE dhlAH&E 300, 000& *1H 300
OA2gxte HIEIS 6,000

AEtEXOIAR2A 93,539 77,573 15,966
= 93,539

101 @121l 42,694 23,200 19,494
= 42,694

02 JIEt& E 42 694 23,200 19,494
Ooagtg X0l 29 42,694
= 42 694

201 Bt 47,845 50,573 N2,728
= 47,845

01 AtR 22l bl 47,845 50,573 N2,728
Ooagtg xol 249 47,845
= 47,845

202 044 1,350 1,800 N 450
= 1,350

01 2L Y| 1,350 1,800 N 450
Ooagtg X0l 29 1,350
= 1,350

203 € R =&lY| 1,650 2,000 A 350
= 1,650

04 EANSILER= 1,650 2,000 A 350
Oagtgxold 29 1,650
= 1,650

AEYHHEHARFX 407,830 548,598 N 140,768
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SN SEAYA
=

B HEEAAYIINTE
SR AYBSNR (AUSHIN) (298 R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
| | — 9| Xt 200, 000& *=2CH 400
SAHSAUBDU(AURELHSG H) 457,190 510,269 A53,079
S 55,100
& 402,090
SNdEgssgmY 125,770 68,365 57,405
S 55,100
& 70,670
201 et A | 14,900 14,900 0
s 2,500
T 12,400
01 AFR2t2l Yl 12,400 12,400 0
(@F=Fa0:] 10,000
-MHUHSd =5 & SHEI =AY 10,000
ogxs 2,400
—SMESE=ER2EHI LI 300,000 *20H x43] 2,400
03 AL H I 2,500 2,500 0
o223 x AdtEd 2,500
A 2,500
206 M = Hl 38,010 38,740 AT730
S 2,100
& 35,910
01 M= bl 38,010 38,740 A T30
OZHM & 2 A 3okl 4,130
Oogdg =043 200,000& =204 4,000
Odsz& 20,000& *60 & 1,200
oMoz 2x 4= 20,000& *2CH x523] 2,080
O3 sdAEH 15,000 *2CH *153] 450
o192 SSHXES
1,200,000 201 *23] 4,800
OM9RZ0 2G| SIES
3,000,000& = 1Al E 3,000
O=dgEHY =& 50,000& =204 1,000
OL0FEE Al M E 100, 000& *20Ml E 2,000
OY&EMA A22F 5,000& *5004 2,500
O2&4ASD| 40,000& =504 2,000
OstMgle etEorE XN 4,500
— A3 25,000& *500H =23 2,500
-H=3288 20| 20,000& *500H x23| 2,000
OFALHE JI=Aa8AE B2 2,250
- 23| 25,000& *50H4 1,250
= k= N 20,000& =504 1,000
O3t AL THAAME B2 2,000
O2Z27X AUZSHES 2,100
I~ 2,100
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SN BEABA
B BFENAYIIUTS
Cel: S3USALHBA(ALSEFA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 3,900 3,600 300
A 500
< 3,400
09 HALAHIEA S 2,900 2,600 300
Oe+x=8d & MUHEFE FHA XN
8,000& 150 +23| 2,400
o7z A2sEd A XA 500
EN 500
11 0IEH2 4 3 1,000 1,000 0
OAYHE U WUST RI0I2A0 AT
100,000& 10 1,000
405 TtobF S| 68,960 8,625 60,335
EN 50,000
= 18,960
01 AL EFSFHSHI 68,960 8,625 60,335
O3t & & &l 7,910
—AYSA 88,000& 30 2,640
-REts 2& 340,000 =4 CH*2IH4 2,720
- SEEZ2E 850,000 *3CH 14 2,550
OYEEdsST AL &l 6,050,000 = 1CH 6,050
O=sg& &g 5,000,000 = 1CH 5,000
O3JI2&82 &I 50,000, 000% =1 CH 50,000
EN 50,000
EAMAEZHEZ 197,000 312,784 A 115,784
401 AIEHI L 2 CHYI 197,000 132,784 64,216
01 A& HI 197,000 132,784 64,216
Osdg &X 160,000
O=AM atEa 2 ARE 3 20,000
O2AM AL &A WX 17,000
A ELAL DR 30,910 36,340 A5,430
201 Let24d] 1,410 1,340 70
02 232gHl 1,410 1,340 70
OA& &l Xl 1,410
—agEs2e 20,0003 #1410 22 %1/2 1,410
401 AlEHI R 2 OhYl 29,500 35,000 ~5,500
01 A& HI 29,500 35,000 A5,500
Oastd d4d 4,000,000 =34 2 12,000
Oastd E= 2,000,000& «5J4 & 10,000
Oastd 258 500,000 »109H & 5,000
OastE+ HEXE 250,000 * 1094 2 2,500
SIS = gl e 75,360 64,200 11,160
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2N
X ZH -
L= B

el

re o2 o
JY 0x 08
M0 HO B~

ot A
ABH (STAYA)
SEIESTEEED Y

SA-EB .Y (BH) - ABAY - B2 O At 0t San H D2
QI SAH|(ALSEFH) 4,813,908 4,271,017 542,891
oz 23| 4,813,908 4,271,017 542,891
101 2124 d| 4,681,788 4,150,177 531,611
01 2= 4,641,319 4,114,788 526,531
O SH 294,780
-A8A 84,864,000 14 84,864
== 69,972,000& 34 209,916
os= 2,588,313
- g 2,588,313
EAg=tg] 4,097,200& *10¥ x12& 491,664
A8 3,675, 7003 x17H x12& 749,843
A g & 3,188, 100& x20H = 12& 765,144
A8 2,258,200& x14H x12& 379,378
A BEAL 1,873,000 x9H 128 202,284
OF-Faga=y 205,144
Oxh22=4 742,661
—AZ2H 284 507,621
-ot22f4 147,547
-5d222Y 87,493
OFH+Y 355,361
-JtEY 73,440
i < Xt 40,0003 x59H x12& 28,320
P 20,0003 x42H «12& 10,080
=M AU 60,000& x24H x12& 17,280
A olE At 100,000& *10H = 12& 12,000
- JIEHIHS 20,0003 x24H x12& 5,760
- AU EHI xS 467,000 *18Y *43| 33,624
-y 2YoHa3 76,560
- 25 O] & 130,000 *25H x12& 39,000
- 20~25E 0] ot 110,000 x 12 =128 15,840
- 15~20E O] Bt 80,0002 x7H «12& 6,720
- 108 ~15E 0] Bt 60,0003 x10Y ~ 122 7,200
- 5~104 0| 8t 50,000& *13H x12& 7,800
-2 53,280
=43 60,000& x74H x12& 53,280
- 0IAALR G 50,0002 *3H «12& 1,800
-+ 80,000& x74H x12& 71,040
-HRBRIAY 28,179
-F0t5d Y 10,838
-QEHIRFALG 50,000 x1H x12& 600
-ESIh 3 6,000
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SN SBAYN
Hu: HH2AAY (BBLYA)
¢ HAHH(ASESESIA)

SA BB O () - NRAY - HES il
OF U Z A 130,000 »74H » 122 115,440
OHEFOHYI 2,588,292,000& /12 *60%*23] 258,830
OHI S 4| 80,790

- =M
294,780,000 /12& *78%+*86%*1/30* 12 6,592

=g
2,588,292,000& /122 «86%+*1/30* 12! 74,198
03 RIAHAZZ2HE = 40,469
Ot=L22 E= 36,601
-2 60,240% 246 14,820
-0 14,819,040& /12 *400% 4,940
-&AJ2E+Y 14,819,040 /128 «10%*12& 1,482
- Azt 2 11,295@ x15A1 24+ 12& 2,034
PN = 60,2403 22 1,326
= 60,240 104 6,265
- 522 90,3603 14 1,266
- ZE S| 300,000& x23| 600
= JHAI X & 8l 14,819,040% /12& »80% 988
- Sl 110,000& »12& 1,320
- = &l 130,000& »12& 1,560
OHBRES 3,868
-HALEREZ 36,601,000 *3.06% 1,120
- RYEEREEZ 1,120,000 *6.55% 74
- ZASREES 36,601,000& *4.5% 1,648
-NELEREZ 36,601,000 *1.5% 550
- MATHANEEZ 36,601,000& *1.3% 476
204 X243 A Y| 132,120
02 A2l 132,120
OFEAS-IPS 400,000& 18 «12& 4,800
oaerd 250,000 x3YH x12& 9,000
OFE - 155,000& »27H «12& 50,220
OFS-\S; 140,000& 20 » 128 33,600
OAg Al 125,000& 23 «12& 34,500
A (LAYSEIIH) 179,209
Jl2zl 179,209
201 L2yl 80,201
01 At 22l 76,601
OJ12=&Htl 9,271
ozg=4¢ 52,000
=R Rt = 52,000
OJles gl 15,330




SN BEABA
BH: HHSYAU (ZBLLA)
oS J2dUl(ALSEAH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
02 3524l 3,600 3,600 0
O332=2 % HA 3,600
-REYSS 300,000& x12& 3,600
202 (4] 40,588 39,476 1,112
01 2L Y] 40,588 39,476 1,112
OJle0u ] 40,588
203 ¥R =&Y 24,620 24,740 N 120
01 J|22I P RF=XY| 5,700 5,700 0
OagME 4,400,000& =14 4,400
OPotH™ HIE & 1,300,000& x1H 1,300
02 RIS R = XY 2,960 2,840 120
O A& 2| 40,000 *74H 2,960
04 2SI L RF=AH| 15,960 16,200 A 240
ooflgotd 175,000& 10 A =12 2,100
Oy HEaFE2S, B2
250,000 *3 A~ =12 9,000
OsLHH 405,000& x1JH A~ *12& 4,860
204 &R = A H| 10,800 10,800 0
01 MR- AY| 10,800 10,800 0
Oa8ME 400,000& x1H *x12& 4,800
Ont& 100,000& *3H x12& 3,600
OCtHMIEHE, 2XRUE 100,000& x2H «12& 2,400
405 X+HoHF SHI 23,000 53,200 A 30,200
01 A&t = S F SHI 23,000 53,200 A 30,200
og=2as)l 17,000, 000& = 1CH 17,000
OAGHHl AL TH 6,000,000 =1CH 6,000




N = 0l & At & M A

20184

H
i
2
z
k-
0z
Jm
ng
ton
x
gl
é

SN WEASN
=

B BRENAYIIUTS
cel: AUSSIE(ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
FESENS=U 9,854,806 9,560,608 294,198
= 123,359
N 55,100
= 9,676,347
HESTHALAYI|BIRS 1,736,328 1,991,873 A 255,545
= 123,359
EN 55,100
< 1,557,869
2L SNEA(ALYSESAH) 1,171,148 1,294,813 A 123,665
= 123,359
< 1,047,789
ALIMLEH S 2L 285,423 329,163 AN43,740
201 2et24d] 285,423 329, 163 A43,740
02 2324l 285,423 329,163 A43,740
Oz22= & HA 135,711
-0AEI FIZA 120,000& »56CH 6,720
-&d3tx A 100,000 *8H 2 800
-S¥%3 & 1,000, 000& *23| 2,000
- SHIIEAMZE 928
I A 63,0003 8= 504
INEFSIE=DN; 45,0003 8= 360
HZE L THS IS A 8,000& 8= 64
-5t 23 10,920
-3 42,240
-d83d= 15,067
- d3AES 25,980
-0lS&EAER 55,0003 x10CH =128 6,600
-SZMNEELZ(RSX) 1,000,000 *23 2,000
- XNEHESH S b 1702 2,011 m 342
-sZJ|dEA= 220,000 128 2,640
-SZJEIZEARE 150, 000& * 13l 150
RO R FSEE Ful U == 352,000 122 4,224
-3JE8I BIEEAE
400,000 »4CH »23] 3,200
—LPGAIL] BHAMASBEH = 140,000& =13l 140
- I SO0SHEANLE MEZ
55,0003 5CH 123 3,300
- XE2H 2 HYI| AIES
55,0003 70 =128 4,620
—HEHSEE SAESAAE AER
70,000& 301 122 2,520
—AYUEHE SE2ACUANLE AIER
55,0003 +2CH 123 1,320
O =l 40,674




N = 0l & At & M A

20184

H
i
2
z
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SN AN
=

B HEEAAYIINTE
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-2 827 .26 110! »24Lx7[H 15,288
- XAtz 827 .26 110! »20L+9CH 16,380
— AP A LD 827 .26 110! »22Lx3[H 6,006
- FWHAEY FHAIAZHI 3,000
OF N Al E 125,000 *200 A~ x 128 3,000
OA&E &l S XYl 109,038
a=a=uwl I RPN 100,000& =19CH 1,900
-0y XA ZEY| 23,000& *70CH 1,610
-sSsa AU A 110,000& *20CH 2,200
-2HEBE 350, 000& *2CH 700
- 1197 &2 X &H| 1,000,000& x 1Al E 1,000
-HBZAMH, SISED 300,000& =11CH 3,300
-f248=27 X4l 10,110
DA JIX= 1,500,000& *x11=*6% 990
ols, 5= 1,000,000& x152= x6% 9,120
-S4, daEzR X 300,000& *5JH 2~ 1,500
- waI)|g X 22 110,317,000& *6% 6,620
-2AZFATANAE R X222 232,033,330 *6% 13,922
— M AEH S X2 7,836
— & AMCCTVS Xl 22l 1,800
- 119 =208 HHE%
250,000& *5JH 2~ 1,250
— 1190 QX E X B MH 24
100,000& *2JH A 200
-11972 30 ZE &2 sA22
2,000,000& =4 CH 8,000
-Ad= R XYl 9,090
—-EMEALEY 32,000
-G AALRE 2L 6,000
A g Xteks X2 255,052 225,641 29,411
201 et A | 253,252 225,641 27,611
02 3524t 253,252 225,641 27,611
O0332= % HA 61,714
- XS XA 470,000& x1CH =13 470
-AsSi BEa2 51,649
- XANEHESSAIE 1,715
5 0 & 35,000& *16CH x23] 1,120
5& 0] 8t 35,000& *17CH *13] 595
- SaXY JLUNEH S 7,880
D IR} 1,300,000& = 1CH 1,300
=4 3aA X 420,000& =104 420
JEREEDN; 880,000& *7CH 6,160




SN AEAYA
B HEEAAYIINTE
Sl AYHSTH(LLSHHN) (S &2)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
O Xt &k Bty 191,538
-A285E 4,390, 0003 =2CH 8,780
-=8s58 4,486,000 =1CH 4,486
-&sE83FE 3,982,000& = 1CH 3,982
- 4832 3,874,000& =3CH 11,622
-=8s¥ 5,820,000& *5CH 29,100
-SE32 4,080, 000& =3CH 12,240
-gs 2 7,570,000 *8CH 60,560
-F2=2x 7,544,000& x6CH 45,264
- Bt 3,876,000 =4 CH 15,504
405 XtabF SHI 1,800 0 1,800
01 AL 2 EF SHI 1,800 0 1,800
Oxtsg g9 A 300,000& =3CH 900
OxteEg dlglAHolA 300,000& =3CH 900
AEX0AR2H 123,359 93,298 30,061
= 123,359
101 @121l 65,060 34,300 30,760
= 65,060
02 JIEt& B % 65,060 34,300 30,760
Oagg8xodE2d 65,060
= 65,060
201 LEt2 Y| 50,610 51,298 A\ 688
= 50,610
01 AR 22| I 50,610 51,298 688
OAaYgEXoHR2YH 50,610
= 50,610
202 04 b] 4,989 5,700 AT
= 4,989
01 2LHOHI 4,989 5,700 AVAR
O4agtExoNHRY 4,989
= 4,989
203 R =&lY| 2,700 2,000 700
= 2,700
04 ENESI IR =AY 2,700 2,000 700
OAagtE8xX0#a2dY 2,700
= 2,700
AYUMHHARLFLK 447,225 589,467 N142,242
201 Lt 2| 118,474 116,087 2,387
01 At 22l Yl 117,974 116,087 1,887
OdetE A =EH| 32,000
o2g+¢ 3,720
-2 A=Y 3,120
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B A A
HEENAYIIMTE
HRUSALHBLY (AL ESSA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
E 55,100
< 510,080
SYEssHY 157,240 190,980 A 33,740
EN 55,100
< 102,140
201 LB-2EH| 14,900 14,900 0
EN 2,500
< 12,400
01 At 22l 12,400 12,400 0
O=4ltl 10,000
- MHHEd &5 & EHEI 24l 10,000
Oogxtz 2,400
- SIMHMEZ=EREH S X 300,000 «2CH 43| 2,400
03 A2 Z Hl 2,500 2,500 0
Odaz=x 2gs=d 2,500
EN 2,500
206 M= Hl 73,940 80,280 N6,340
N 2,100
< 71,840
01 =8l 73,940 80,280 A6,340
O3 & A 3ok R 19,500
oY =0tAa3 200,000& = 1574 3,000
gtz s 20,0003 802 1,600
O1971 28X &S 20,0003 *6CH x523] 6,240
OM97Zxt &asH 15,000& 60 x 153 1,350
o192l SSHIES
1,200,000 =6 CH 23] 14,400
ONMo7z2ll 22l 23S
3,000,000& *4 Ml E 12,000
O=sdEdH% Z3¢E 50,000& =104 500
OOt ZE =AD| ME 100,000& 5K E 500
OgHIEMAH AE3 5,000& *400H 2,000
o243 40,000& 504 2,000
OstMel=s etEitE XE 4,500
- 43H0] 25,000 5001 x23] 2,500
-H=3E2E 2| 20,0003 5001 23] 2,000
OFAAHE JIZMHE IZLLANEES 2,250
- 23| 25,000 504 1,250
—H=3BE 2| 20,000& 504 1,000
OStM AL MHAME EF 2,000
O3 AUSHES 2,100
N 2,100
301 gt 4= 3,900 3,600 300
e 500




2N
X ZH -
L= B

el

NHELYN
HESNAYIINTS
HESAYASY (AYSLIH)

SA - BB B () - MM - BES Ol &t o San HmEET
< 3,400
09 HALAHIE& S 2,900 2,600 300
Odgxx=d & HHSEE It X3
8,000& 1509 *23| 2,400
OAZRE ALEY X X 500
EN 500
1 JIEt2 a3 1,000 1,000 0
OAZSE o MUEE S22 AT
100,000& =10 1,000
405 XH&HE SH 64,500 92,200 27,700
EN 50,000
< 14,500
01 XA = ZH St 64,500 92,200 A 27,700
Ogst= MEI(XIS) 1,500, 000& »3CH 4,500
Odsts AxXD| 5,000,000% *1CH 5,000
O=sdg&E &8s 5,000,000& =14l 5,000
O3J15&871 &0 50,000,000% = 1CH 50,000
EN 50,000
EAMAEZHEZ 79,000 182,270 A 103,270
401 A& HIZ 201 8] 79,000 182,270 A 103,270
01 A& HI 79,000 182,270 A 103,270
O2AM AL &A WX 15,000
OOIEXIY =2 2 17,000
O™l L XL CCTVA X 17,000
OZol3 119 MMy FYAMAF L HAES
= 15,000
OEH19t MM HYUMAE L HELSH
ot 15,000
L E AL 2E 42,030 40,030 2,000
201 2yt 2 Y| 2,280 2,280 0
02 2324l 2,280 2,280 0
OA& & Hl s Xl 2,280
-AgEs2te 20,0003 22801 2~ *1/2 2,280
401 Al HI L ROl 39,750 37,750 2,000
01 A& HI 39,750 37,750 2,000
Oastd d4d 4,000,000 =44 A~ 16,000
O23d B 2,000,000 *5H 2 10,000
Oxstd B E 500,000& =54 2~ 2,500
OastE+ X 250,000 *5H 2 1,250
Oodl&ast&x 4X 10,000,000 * 10 A 10,000
oZALU2E 256,160 255,200 960
301 AP B A 253, 160 252,200 960
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SN AEAYA
HE: HYBAAUIIHDE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OGHAIO 0l Aetd A EIIX S A
8,000& x180H 1,440
O =s2Ua &IA =4 8,000& 150 1,200
OO0ielol 1198ttt =M EIt4 =4
8,000& 300 2,400
405 TtHabF S| 2,600 0 2,600
01 et EFFHSHI 2,600 0 2,600
OAEMEH EE 1,300, 000& *2H 2,600
HE2IAZH (A LEAM) 8,118,478 7,568,735 549,743
oleEARAH(ALSEIAH) 7,888,460 7,306,666 581,794
ol 2| 7,888,460 7,306,666 581,794
101 @14l 7,670,060 7,104,886 565,174
01 2= 7,670,060 7,104,886 565,174
O =M 294,780
-AYH 84,864,000& »1H 84,864
-—agd 69,972,000& »3H 209,916
OZ=H 4,355,696
- g 4,355,696
EAR= ! 4,016,4003 x12H 128 578,362
Eng| 3,629,700&x30H 122 1,306,692
oA 3,071,900& 36K 123 1,327,061
Eng=1ami 2,333,000&*20H x12& 559,920
2 8EAL 2,026,600& x24H x 123 583,661
OFS ==y 335,456
Oz 1,340,820
—Az2te 2R 883,106
—-or28x4 287,332
- 52 170,382
OFSEEs, 586,881
-JIEg 169,920
b < Xt 40,0002 *105H «12& 50,400
B DNIE 20,0003 x49H « 128 11,760
=M Xt 60,000 *116H 128 83,520
AW ol= XtH 100,000& = 13H »12& 15,600
JIEFILE 20,0002 36 «12& 8,640
- NEEHEE+E 467 ,000& x19H *4 3| 35,492
- Z32=gltits 116,760
- 256 0] &f 130,000& «31H 128 48,360
- 20~25 0] et 110,000 = 18H »12& 23,760
- 15~20 0] 2t 80,0003 x22H x12& 21,120
- 10~15 0] e+ 60,0003 x 118 «12& 7,920




SN AEAYA
B HHSAAL (HNHALA)
Crol: o2 oyl (LY S H) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
5~10& 0] G+ 50,0003 x26H = 12& 15,600
-EZ22sE 90,720
23 60,000 x126H ~12& 90,720
-APRLE 50,000& *3¥ x12& 1,800
- MGG 80,000& x126H ~12& 120,960
—HRsFIAFY 29,850
- RO 10,579
=P =] 900,000& x12& 10,800
OFHZ A 130,000& x126YH 128 196,560
OY&E S| 430,022
-2 2N 4,300,212,000& /128 *60%*23] 430,022
OH I8 AtY| 129,845
-4 SN
293,880,000 /122 x78%*86%*1/30x 12 6,572
N
4,300,212,000& /122 x86%*1/30* 12 123,273
204 = 2 4= A H| 218,400 201,780 16,620
02 &= & xH| 218,400 201,780 16,620
Ooagyts 400,000& x1H x12& 4,800
(@FEY=10= 250,000 x3% x12& 9,000
(@FEAS=1arc I 155,000& x42H x12& 78,120
O & 140,000 x36YH x12& 60,480
OAagm At 125,000& *44H x12& 66,000
Jl2HH (ALELHZH) 230,018 262,069 N 32,051
Jl2&Hl 230,018 262,069 N 32,051
201 et A | 98,062 96,751 1,311
01 AR 22l ] 94,462 93, 151 1,311
(OPIR=E==2:] 16,002
O == 52,000
= = 52,000
OPIE=E=2=3:] 26,460
02 352 H| 3,600 3,600 0
O332= % HA 3,600
-REYSE 300,000& ~12& 3,600
202 04 d| 70,056 68,388 1,668
01 2L Y| 70,056 68,388 1,668
OJle0u ] 70,056
203 ¥R =&H| 37,500 38,130 A 630
01 J| 2 2HHR=XH| 8,300 8,300 0
OagME 4,400,000 x1H 4,400
OPot™ HIE & 1,300,000& x3H 3,900
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2N
X ZH -
L= B

el

Y. B9 (3H) - HEAMY - BES o AF o San H D2
OAlI& &Hl K X Hl| 110, 152
==l I RPN ] 100,000& = 10CH 1,000
-0y IRXRAZE 23,000& *50CH 1,150
- Ssa A YA 110,000& *9CH 990
-2HEE 350,000& = 1CH 350
- 1197 &2 &H 1,000,000& *3AI E 3,000
-l =ZaA &) 300,000& =3CH 900
- 28 =224l 7,890
= H DI 20,000, 000& * 1= x6% 1,200
JI X =2 1,500,000 *6=2 *6% 540
ols= 1,500,000& *31= *6% 2,790
sSU= 1,000,000& *56= *6% 3,360
-SHN MM E KR 300,000& *3JH &~ 900
- WEJ KX 22 95,000, 000& *1CH *6% 5,700
-2AZATANAE R 22 232,033,330 6% 13,922
— MAEH S X2 8,214
— & AMCCTVS Al &2 1,759
- 2M 24,314,000& *6% 1,459
BE=FS| 5,000, 000& *6% 300
—dZ2d0le 3 200,000 x18HI E 3,600
- 119 E =20 & B
250,000& *9IH 2~ 2,250
- 11948t X E X [
100, 000& *51 4 & 5,100
-11972 320 22 =Xl 2el
2,000,000& 204 A~ 4,000
- SHEHRA2 250,000& =6CH 1,500
i al—2=UNisl| 16,102
- EHAMNEALAZEAY| 31,825
2 A2 228,342 259,254 AN 30,912
B2 A Y| 227,442 242,454 AN 15,012
S32g%H| 227,442 242,454 AN 15,012
03322 % HA 36,852
- XS XA 470,000& *1CH*=13] 470
-ESENSIH B8 30,657
- XANEHESSAIE 1,785
5 0 & 35,000& *150CH *23] 1,050
5& 0] 8t 35,000& *21CH 18] 735
-SXg Lot 22 3,940
&= Xt 880, 0003 =4LH 3,520
=4 3aA X 420,000& =104 420
(@PNE=FaR=1a:] 190,590

- 123 -




CHE LS9 (3H) - NBAY - B2 il HZS2

-A8SE 4,390, 000& =2CH 8,780
-=8s58 4,486,000& =2CH 8,972
-Z85E 5,820,000& =3CH 17,460
-UHEsg 9,894,000& = 1CH 9,894
- 4832 3,874,000& =3CH 11,622
-S832 4,080,000& *=1CH 4,080
-UHEs2 7,570,000& =3CH 22,710
-A=Xt 7,544,000 *7CH 52,808
--IOXt 3,876,000 =144 54,264

405 X+HaHF SHI 900 16,800 A 15,900

01 JtMt = S F SHI 900 16,800 A 15,900
OXHE S5 A 300,000& = 1CH 300
OXt&E ulgiAHolA 300,000 =2CH 600

AEBX0HE2YH 76,262 88,044 N 11,782
= 76,262

101 2124 d| 33,087 27,500 5,587
= 33,087

02 JIEt8 2 33,087 27,500 5,587
Oagt8xXoa2dy 33,087
= 33,087

201 et A | 40,915 56,044 AN 15,129
= 40,915

01 AFR 2t 2l Yl 40,915 56,044 A 15,129
OAgtBxXol#E2dY 40,915
= 40,915

202 04| 1,060 1,800 NT40
= 1,060

01 2L Y] 1,060 1,800 AT40
OAageEXoHA2YH 1,060
= 1,060

203 ¥R =&H| 1,200 2,700 A 1,500
= 1,200

04 EANSHLRF=AH| 1,200 2,700 A 1,500
OAagt8xXola2dY 1,200
= 1,200

AYUHYARLFX 417,561 442,615 A 25,054

201 et A | 107,781 111,055 N3,274

01 AL 22l 107,281 111,055 A3,774
Oerd A =ZH| 32,000
ozg=+4¢ 3,720
—2AAE=E 3,120
MNENR 130, 000& *2H x4 3] 1,040
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n0

Kio

Hl w

500

3,528
3,528

N 15,840

A 15,840

N9,468
A9,468

A4,385

A4, 385

A4,385

16,200

H3r
Wikd
RIS

2,000
2,000

310,560

310,560

19,000
19,000

52,670

52,670

52,670

728,240

Off &t 24

1,040
1,040

600
600
68,561
68,561

3,000
3,000

500
500

3,528
3,528
3,528

2,000
2,000
2,000

294,720

294,720

74,400
9,532
9,532
9,632

220,320

48,285

48,285

48,285
47,085
24,500

17,440

1,915

715
1,200
3,230

1,200
1,200

744,440

<

5,100
739,340
110,110

H

3

3

o x4
o x4

[

2l %2

[und
e

2 x2

o=
130,0003
130,000

el =
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RO
ol
o
oF
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[und

2l %2

e

100,000

=}

[und

2%109%

629,000

=]
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Mo

D0
<

3

[und

Rl x3CH *x2

e

500,000

t

30
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160
I
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01 SLHOHI
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ol

Kl
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03 Al

204 A
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Hx123

%62 128
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e
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ok
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el
iy

"l
<0
oFJ

o
il

1)

[w]
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o
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e
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[und
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A DA
B HEEAAYIINTE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
E 5,100
< 105,010
201 LBH2E| 14,900 20,010 A5,110
EN 2,500
= 12,400
01 At 2t 2l 12,400 17,510 A5,110
O=4ltl 10,000
-MHHEE &5 & EHEI 24l 10,000
odxz 2,400
—SIMHEEZF=ERAEH S X 300,000 «2CH *43] 2,400
03 A2 Z Hl 2,500 2,500 0
O2dax2=x 24%s=d 2,500
EN 2,500
206 M= Hl 66,630 68,530 A 1,900
EN 2,100
< 64,530
01 MHZ 4l 66,630 68,530 A 1,900
O3 & e A 3ok R 8,100
Oggy=0tA3a 200,000& 204 4,000
ogstzs 20,000& =100 2,000
O197 xR &S 20,000 »7CH 523 7,280
O11972 3 X &M4AasSH 15,000& =701 x203] 2,100
o192l SSHIES
1,200,000& =70 23] 16,800
OM972ll 22l 223
3,000,000& *2MI E 6,000
o197 We&ES 1,000,000 <200 £ 2,000
Osgs8 oY, ZE3E 50,000 =304 1,500
O0HEE =AM ME 100,000 »10MI E 1,000
OEIMAH 422 5,000& 6004 3,000
OsZ2430l 40,000& *504 2,000
Ostiels etdits XA 4,500
- 43D 25,0003 5001 23] 2,500
- 432882 20,000& 5001 x23] 2,000
OFALHE JI=AEANE ES 2,250
- 43| 25,000& 504 1,250
-—H=s3d2d 20| 20,000 =504 1,000
Ot MHALA THHAME EEF 2,000
Odax=x 2%4Ed 82 2,100
EN 2,100
301 et a3z 7,900 3,600 4,300
EN 500
< 7,400
09 &AL HIB A S 6,900 2,600 4,300
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SN DAAYA
M HEEAAYIIUTE
tel: E¥USAYAEL(ALSEIA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oe+=x=8d & MHEFE L X
8,000& 150 *23| 2,400
ONMHEE QI XX =4HI| 8,000& x500H 4,000
Odgxx 2¢sEd LK 500
EN 500
NIJIEEd=s 1,000 1,000 0
OAgdd & THHE S3C2tQ0 &M
100,000& =10 1,000
401 A& HIZ 201 I 3,000 0 3,000
01 A& HI 3,000 0 3,000
ONMMEE==20/8 WX 1,500,000 «2J4 & 3,000
405 RHoHE S HI 17,680 40,900 A 23,220
01 AL ESFHSHI 17,680 40,900 A 23,220
Ot & & &l 12,480
—agsSA 88,0003 40 x20= 7,040
Fots 2& 340, 0003 *4CH 44 5,440
OstHE XNsHASII 2,600,000 »2CH 5,200
FANAELEZHES 159,000 119,500 39,500
401 Al HIZ 201 I 19,000 119,500 A 100,500
01 A& HI 19,000 119,500 A 100,500
O2Md =X& OtA2 X 19,000
403 MtXISHH S0l & 140,000 0 140,000
01 XM A=2EE 140,000 0 140,000
OHEMAATNZIAZ AU HA MF 140,000
LY AlL 2 34,020 33,880 140
201 Let24E] 1,270 1,130 140
02 2324gl 1,270 1,130 140
OAl& & Hl s X bl 1,270
—AgEs2te 20,0003 #1272 %1/2 1,270
401 AIEHI L 20 32,750 32,750 0
01 A& HI 32,750 32,750 0
OAstEx Al&2tel 32,750
- A5d A4 4,000,000& 24 2 8,000
—Asd B4 2,000,000& *6H A~ 12,000
-A3N BSE 500,000 *3H 2 1,500
-AsEs EAH 250,000 =54 A~ 1,250
—Hl&ASHEX 10,000,000 =104 2 10,000
ELALUHE2E 412,860 412,940 A 80
301 gt d= 412,860 412,140 720
03 2 EALHAAEH 412,860 412,140 720
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OaH 119t M MY Al S 90,871
= sl 90,871
HHSHHH(SHAYA) 8,944,324 8,375,413 568,911
QI SAH|(ALSEFH) 8,687,191 8,089, 156 598,035
oz 23| 8,687,191 8,089, 156 598,035
101 2124 d| 8,439,631 7,864,036 575,595
01 2= 8,439,631 7,864,036 575,595
O SH 379,644
-A8A 84,864,000& »2H 169,728
== 69,972,000%3H 209,916
OdZH 4,745,145
- A8E 4,745,145
A 4,097,200& x13H x12& 639, 164
= 3,675,700& *30H x12& 1,323,252
A g & 3,009,200& x36H x12& 1,299,975
Eng=1ami 2,333,000& *33H x12& 923,868
A BEAF 1,791,300 x26H x12& 558,886
o&z=+Y 361,272
Ox2RE 1,534,077
-A2tA2fs< 1,000,053
-2t 224 335,235
-52422+E 198,789
O8dH+Y 556,487
-ExY 138,720
o < Xt 40,0003 x96H x12& 46,080
0 (DIE 20,000& x72H = 12& 17,280
=M A 60,000& x58H x12& 41,760
AW 0lE A4 100,000& x12H = 12& 14,400
JIEFIL S 20,0003 *80H x12& 19,200
-NMEEHEXSS 467,000 *18Y *43| 33,624
-d 223 130,680
254 0] &f 130,000& *37H x12& 57,720
- 20~25 0] B¢ 110,000& *11H 122 14,520
- 15~20E O] Bt 80,000& 20 x12& 19,200
- 10~15 0] Gt 60,0003 x32H x12& 23,040
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SN SHAYA
M. HMSAAH (SAAYUA)
Crol: o2 oyl (LY SHE ) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
5E~10 0] Ot 50,000& x27H = 12& 16,200
-EZ22sE 102,240
23 60,000 142 »12& 102,240
-APRLE 50,000& 4G x12& 2,400
- MGG 80,000& 142 »12& 136,320
-HREFAFY 12,503
(@F=1V =SEy=, 10,460
O&ssItdt= 1,000,000& x12& 12,000
O&FHZAHI 130,000& *142H »12& 221,520
OY&E S| 474,510
-E2H 4,745,096,000& /128 x60%*23] 474,510
OdIIE A b 144,516
-4 SN
379,644,000 /128 78%*86%*1/30% 12 8,489
- 2N
4,745,096,000& /128 «86%*1/30% 12! 136,027
204 &2~ F H| 247,560 225,120 22,440
02 &= & xH| 247,560 225,120 22,440
(@FES=1PS] 400,000 x2H x12& 9,600
(OFE == 250,000 »3H = 12& 9,000
(@FEAS=1arc I 155,000 #43H x12& 79,980
Oaga 140,000 *36H x12& 60,480
OAagtn, Ab 125,000& *59H x12& 88,500
Jl2HH (ALELHZH) 257,133 286,257 N29,124
JlE2&| 257,133 286,257 N29,124
201 et A | 103,117 102, 143 974
01 AFR2t2l Yl 99,517 98,543 974
(OPIR=E==2:] 17,907
ozg=s4 52,000
-g&aY 52,000
OPIE=E=2=3:] 29,610
02 =294l 3,600 3,600 0
Os32=2 ¢ MAl 3,600
-REYSE 300,000& x12& 3,600
202 (4] 78,396 77,284 1,112
01 =S LHA YI 78,396 77,284 1,112
OJI20 bl 78,396
203 € R =&lY| 42,520 43,930 A 1,410
01 J|229 PR =&Y 9,600 9,600 0
OagME 4,400,000& =14 4,400
OOotM M & 1,300,000& x4H 5,200
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N = 0l & At & M A

20184

H
i
2
z
k-
0z
Jm
ng
ton
x
gl
é

SN YA
=

B BRENAYIIUTS
cel: AUSSIE(ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SN 8,017,783 0 8,017,783
2 20,964
N 75,100
< 7,921,719
HESTHALAYI|BIRS 1,562,637 0 1,562,637
= 20,964
EN 75,100
< 1,466,573
2L SNEA(ALYSESAH) 919,362 0 919,362
= 20,964
EN 70,000
= 828,398
ALIMLEH S 2L 252,008 0 252,008
201 et 252,008 0 252,008
02 =224l 252,008 0 252,008
Oz22= & HA 121,709
- NASEI BIZA 120,000& »20CH 2,400
-&d3tx A 100,000 » 1004 2 1,000
-SY%3 & 1,000,000& *17] *23] 2,000
-S&8I M= 1,214
I E A 63,000& x18= 1,134
ot ot 8,000& x10= 80
— ot 23 12,708
-3 47,219
- dE3EH= 15,000
-dSAMEE 12,240
-0lsdSAMER 55,0003 x10CH«12& 6,600
—EBAMERE S 1,586, 000& *23| 3,172
- XN&EHESH b 685
- dIIZHIetdEE = 650
=AM, tE M 150,000 *20H 2~ 300
Xl <o 50,0003 *7H 2 350
-sZlletEEzE= 220,000 1228 2,640
—dojerEzeidE= 108,400& =128 1,301
-3JI88I BJNEE24E
400,000 *2CH *23] 1,600
-=3ot2l 2 INE=J=3
55,000& 501 » 1228 3,300
PNE= R ANEE
55,000& 501 » 128 3,300
-MHEHEE a4 ANEZ
70,0003 =401 128 3,360
- AU SE2 A8 S
5,000& 20123 1,320
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N = 0l & At & M A
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SN YA
=

B BRENAYIIUTS
cel: AUSSIE(ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
oozl 43,651
-2 1,286.89& 110 »25L 504 17,695
- Xad=z 827 .26 x 110 »18L»4H 6,552
—APR A R 827 . 263+ 110 »24L+6H 13,104
- FHAY FHALHZ 4 6,300
=AM 400,000 =100 &+ 12& 4,800
Ot& Ml 125,000 10 &+ 123 1,500
OAIE ZHI S X 86,648
== W RN | 100,000& = 15CH 1,500
- PR ZEHHI 23,000 »30CH 690
- &= R 200,000& =3CH 600
- S8 Y| 1,100, 0002 = 1CH 1,100
-Z2HEE 350, 0002 204 700
- 1197 g2 X2 ZFHI 1,000,000 1AMl E 1,000
-3 ZdM, BI15&I1 300,000 «2CH 600
-S8=25X4l 8,070
- DE JIXN= 1,500, 000& *11=3*6% 990
-olE . 5U= 1,000,000& *118= 6% 7,080
-S¢, Ml 2R X2t 300,000& *6H & 1,800
—wa| s 94,380,000 *6% 5,663
-7 ALY szt
232,033,330 *6% 13,922
- dAEH R A 22 11,880
— E AMCCTVR Al 2t 2l 5,000, 000& *2H 2= 6% 600
—1OMEE20/8 FHIE=S
250,000 *5H A 1,250
- QA X EXI B HEIE =
100,000 *8H 2 800
1197 = 2Z2cla sz
2,000,000 =10 & 2,000
- ESY TR 22 250, 0002 »5CH 1,250
aR=—S DN N| 9,217
HAHE A E 9| 24,006
Xl 2el 148,602 148,602
234l 148,602 148,602
=323l 148,602 148,602
O3 & HA 20,498
— Xt & XAl 470,000 *2CH 13 940
- NSHEEE 17,343
- AHASSAME 1,015
54 0] & 35,000 +7CH *23] 490
54 0| 6t 35,0003 1501 13 525
-S==Xg L8+ 1,200
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SN YA
B HEEAAYIINTE
©el AYEsSXA(NLEEIA) (Sl & &)
SA - BB B () - MM - BES Ol &t o San HmEET
E 25,000
01 A& HI 25,000 25,000
Ogulerda & 25,000
N 25,000
405 THobH S| 45,000 45,000
EN 45,000
01 XML = ZH SHI 45,000 45,000
OdlIetEA 2H=23 45,000
N 45,000
SANSALHBL (AYEHS 643,275 643,275
EN 5,100
S 638,175
HYESSAWY 133,245 133,245
N 5,100
< 128,145
201 £B-2%H| 14,900 14,900
N 2,500
< 12,400
01 At 22l 12,400 12,400
O=4Altl 10,000
-MHHEE &= Jb =4 10,000
Oogxtz 2,400
-SIHEE=ES2HHIYI 300,000 *2CH 43| 2,400
03 &AL S HI 2,500 2,500
Odgz=x ag=d 2,500
EN 2,500
206 M= Hl 67,175 67,175
EN 2,100
< 65,075
01 = tl 67,175 67,175
O3 & e A 2 oF R 7,500
Ogadegr=0tA3 200,000& 60 12,000
gtz s 20,000 200 % 4,000
O19718x A= 20,0003 «5CH x523] 5,200
ONM97Zxt dasH 15,000& 501 x153] 1,125
o192l SSHIES 13,000
O1197 2l 2Z2cla 2LES
3,000,000& 1AMl E 3,000
OsgEdy =3¢E 50,000& x 104 500
OOHZE =AM ME 100,000 *30MI E 3,000
OgIMNH AL2 5,000& =1,000H 5,000
O2Z4sD 40,000& *50H 2,000
Oztiels etdbt S 4,500
- 23| 25,000& 50K »23] 2,500
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S E= T PN
HE: EEBAAYIINTS
Sl HYHSAYHRBY(AYSEE) (B9 ®R)
= - 4 14
SN P SA(EN) - MBAY - BES e HlDE2
—H=SZEE 2R 20,000& 5001 x23] 2,000
OFAASE JIZLEANE B3 2,250
- 23| 25,000 =504 1,250
-—H=3E2E 2| 20,0003 *50H 1,000
OStMAL MHAE EF 2,000
Odgxx 2UEEHES 2,100
N 2,100
301 LA Z 3,900 3,900
S 500
< 3,400
09 SAEHIE &S 2,900 2,900
OZezxsd & HHEEEIA XA
8,000& x150& »23] 2,400
OZe==x A2sEd &AL X & 500
EN 500
MIIEEdS 1,000 1,000
OAgdd & MUHIE 3200 AW
100,000& 10 1,000
405 XHoHF S HI 47,270 47,270
01 AL EZFH S 47,270 47,270
Oe+x=sHNY 28 +¢ 19,770
OJfelortM Zyl 22e 300,000& »20CH 6,000
Ogst=s ME DI 12,000,000 =1 CH 12,000
Ogst= MEII(XS) 1,500,000 *3CH 4,500
Oogst=E AxD| 5,000,000& *1CH 5,000
=PNNE-F-EI ) 190,950 190,950
401 A& HIZ 201 Y] 190,950 190,950
01 A& HI 190,950 190,950
Osdg &X 160,000
OHAAXAU AR SHMA 12,000
OYggEsAEs X 3,950
OMZHEH &AM 15,000
L E AL 2 17,770 17,770
201 YpHe | 1,270 1,270
02 =24l 1,270 1,270
OAIE ZHI S X 1,270
—agE=2L 20,000 1270 22 %1/2 1,270
401 A& HI L 2O Yl 16,500 16,500
01 A& Hl 16,500 16,500
O23d B 2,000,000 *20H 2~ 4,000
Oastd B3 E 500,000 *10H & 5,000
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SN BN
B BRENAYIIUTS
SRl MBS AUABA(LYSEIN) Sl E )
A== a9(3H) - NEAY - BaS ﬁlf& HDS2
Oagtoly sA & =4 8,000 x150H 1,200
QoA 210] Agkot & FOHL 24
8,000& x180H 1,440
O19agtseUa &I 4 8,000& 150 1,200
OON&eol 1198t0te sHM EOHAF 24
8,000& *300H 2,400
405 X+H&HF SHI 1,500 1,500
01 A&t = S F S HI 1,500 1,500
O0lglo] AgtorM D Ol X 2 ¢
30,000& *50H 1,500
HESHAL (HEAYA) ,455,146 6,455,146
H2AH|(ALUSESH) ,245,079 6,245,079
A2 AY| ,245,079 6,245,079
101 @121l ,069,279 6,069,279
01 24 ,069,279 6,069,279
OdsEH 294,780
-A8A 84,864,000 *1H 84,864
-A8d 69,972,000 *3H 209,916
os2 ,398, 148
- A8X ,398, 148
AeA 4,016,400& x10¥ ~ 128 481,968
= 3,675,700& *30H x12& 1,323,252
A=l 2,943,800& »20H «12& 706,512
Ey=lami 2,333,000& x14H = 12& 391,944
A BEAL 1,873,000& 22 x12& 494 472
OGP F=g= 258,999
Oxh22E 1,076,347
- AN2HA22E 705,608
- 02224 232,733
-2 138,006
(OFSRL R 441,188
-IExY 96,960
ol < Xt 40,000 «718 x12& 34,080
0 (PIE 20,000& «56H x12& 13,440
=2 (PIE| 60,000& x40H x12& 28,800
- AIRH Ol &= XHE 100,000& x8H x12& 9,600
- JIEHIHE 20,0003 x46H = 12& 11,040
-XNEEHEX 467,000 x22H *4 3| 41,096
-dI2FEoHa2 94,800
- 25E 0 & 130,000& *33H x12& 51,480
- 208 ~254 (O] 0F 110,000& x12H = 12& 15,840
- 15E~20¢ 0] 2t 80,0002 x5H =128 4,800
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SN YA
B BHSAAL (HYALA)
CHol: ol (A% SEs ) (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
- 108 ~154@ 0] ¢t 60,000 «198 x12& 13,680
- 5E~10 0] 2t 50,0003 *15H x12& 9,000
-fgaery 72,000
=& 60,000& x100¥ ~12H 72,000
-AAL G 50,000& *3H x12& 1,800
-t 80,000& 100 »12& 96,000
- 31,332
=P =] 7,200
OFHZ A 130,000& x100¥ 128 156,000
OY&E S| 3,398, 116,000 /128 x60%*23] 339,812
O A2 Al 104,005
-HEAH
294,780,000 /128 x78%*86%*1/30x 12 6,592
-2 2AH
3,398,116,000 /122 «86%*1/30% 12 97,413
204 & 2 £~ A H| 175,800 0 175,800
02 =28 x4 175,800 0 175,800
(@FENS=IPS] 400,000 x 18 =12 4,800
(OFES=19= 250,000 x3H x12& 9,000
oagtasd 2 155,000 *40H = 12& 74,400
Oags 140,000& x20H x12& 33,600
O m Al 125,000& *36H x12& 54,000
2 (A S H) 210,067 0 210,067
Jl23Hl 210,067 0 210,067
201 Bt 88,963 0 88,963
01 At 22l bl 85,363 0 85,363
OJle+=2H| 12,573
o294 52,000
= = 52,000
OPIE=E=2=3:] 20,790
02 352494l 3,600 0 3,600
OZ2Z22 YAl 3,600
—-[ugsa 300,000& x12& 3,600
202 04| 55,044 0 55,044
01 2LHOHI 55,044 0 55,044
OJ120 byl 55,044
203 &R =&H| 30,860 0 30,860
01 J|22HLRF=AH| 7,000 0 7,000
OagME 4,400,000& =1 4,400
OOortM HIE & 1,300, 000& *2H 2,600
02 RN HRFAH| 4,000 0 4,000
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